
���������	��
��
���	

���
�
� � �
 � ��
����� � � � �
���� � �����	���� � ��

��������
��������
�������		�����	
�

�
����������	����������������
�����

�������� � � � 	
��
�
� ��������� � ��

	
������� � �� � ��
���� � �����

������
�� � � � � � 	
�
�� � 	�
���

���
�����

����
�����������	
��
�

������
������
�����������	��

����
��
����

� �  ����� � 	
����!
�� � " 	�# � �$ � %�&''( � �� � )*+%+)&))(

����������(��
�%,��
�����(�"�#���	
��
�
��������������	
�������������
����

�������
��- � � � "��# � � � 	
�
�� � 	�
��� � ���
���� � . � 	���
 � /0������� � 1���
��

�
��
�����(����/02���������� ��������3�&%&+)&)%� 4	%(�5��(�6�
��
����

��
�1�5�������
��
���2�
��������2�2����������2��������������)&)%(�7���8(

�� � ������9�� � �� �
�
���� � �� � �
����:� � ����� � �2
������
 � ����
��
����(

��
������� � ����
2
��� � ������� � ��
 � �
����
���� � �� � ������2���� � �

���������;��

�� � /02������ � �� �  ������ � �3 � &%&+)&)% �  4	( � � � 	���


/0������� � 1���
�� � 1����
���� � � � 
����<���� � � � �
������ � �� �  	� � �3

%�&''+)&))��
�����������������������	��5�����/���=
�����2�������"�	/�#(

5���"�#���
����
�
�5�����������2�������������)'(*>�������������?��������

%*���)@������"62
�����
������
���������
���?������������
������������

����
2
���;#���"��#�
�����
�5����������
2
���������
�
�������A&�����

��1
����
���1����������
����
�����2�
�������
�2�
����
�
���������
����:�(

�� B��2��C��� � �
� �:��2��++������������������
+�����D�����
+����
����E
�
F'&,%,,GH��F%,@AGI%GI'@,'H���2�������F����������������
��*�
�
��)&))����



)

��5���?����1����������������������2��C�����2J������5���������������
�
�


����
2
�������:��2����
�������������������

.�	���
�/0��������1���
�����?�����(�2�
�����(���
���������

�� �  	� � �3 � %�&''+)&))( � ����
����
 � 2�
� � �� � "�# � �������� � 2
������� � �

5����1�������2
�1�������������?���������
��%*���)@�����-���"��#�
���������

��0�����������2��������?���������1��0�����
���?������
�����������2������

��
� ���������
�����A&������ �.�	�C� ���������
�AA,*�
����C2���( �5��

2���
����1�
��
��������������
�����2J��������5����1�������2
�1���������2�
�


��:�
�������
������
����
������������������
���������������

��!
�����������(

5���������
�����
�����0C����2������
����������
�K��������K��!
������C�������

��������

/
����1�

��������
����
���I3�����������?��������� ����

�� � �<
�
� � ��� � B�2������ � � � �� � ������ � L���
�� � �$ � %+)&)&)( � ��

2�
��
����
�� � �2
������
�
( � �������
����( � )%A � �
����� � �� � ��
�����I(


��( ��
�%&+A+)&))( ���2��� ��� � ��

���2
����������� � ��
���
� ���
������

������	�
���
������
��2�������	
�?�������M�����������
���(���B�2�����

�:
���������
���"		+�N#�2
���������
�5��
�
��������
���
�������/
�������

��
�������3�%(���5���1�����1�
����2���������<��������
2�������(�
�������

)%@��
�����������
������2�
�����������������

.�5���
���������
����������(�����)%@��
�����������
�����(

,) � �
����� � ����������( � ��
 � � � ������1������ � ��� � ���� � ����
��( � ���

���2�������������
����������0����
������(����5��������������
������5����:��

�������������������
���
���������C���������������
��2�������������J�������

��� �
���
���������


�
��������

�
�����������
�������

������	����

�����������

����������� �������������

���������?��������� ���������<
�
������B�2�������������������L���
����$�%+)&)&�O�6�
���I$�P
 ����� � 	
����!
�� � 2���
�� � ��
 � �1�
������ � �
����� � 2�
���� � � � !
��� � ��
2������ � �� � ���
���
��
M������������������
�������������(�2
�������K�����2�
�
��������
=�������
2��1�����(���Q��������������
J��� � �������� � R � 2��������� � �� �
����� � 2
����!
�� � �� � B��
�� � .1����� � �� � S����( � ����� � � � 
��Q
��
�
������
���� � ����
��:��� ��
�
��� �����
=���� � R ��<
�
� ���� �B�2������ ��2!� �����

��� � ����
2
�K�-�7T8;
�� B��2��C��� � �
� �:��2��++������������������
+�����D�����
+����
����E
�
F*'AII'@H��F%,)G,@,IG'*'@H���2�������F�����������		
�����
���������������



I

%

B�2�
�:
������
��
��
"		+�N#

� & !���������������������
����"�!�#
������������$%&'&(%((���)�����*

)
B�2��U����
���:�

" BV+ �#

�
���,$
�
���'$

&

����
����W�%$�����
���,$�����W�)$�����
���'$(�2�
���

%#�����

���
�5��������������������
��������������
��1�����G&>�2����S������
I&>�2�����
����C2���-��

)#�����

���
�5����������
����
���������������
���
�����������2
�K����
�
 � ���( � ������� � �� � ���� � �� � ��2!����( � 
���
��
�� � 2�
� � � � 
����C2��

��2��������2����2���
�������2�
����S����(�����
���������2�
��������
���
��

I
B�2��NJ���
B������
"	�V+ X#

�
���)$� &

����
����W�%$�����
�� �)$( �2�
�����2����
������������������
����K�������
�����
���2J�����(�����������������5���6Q������������
����K�������������
��
2J���������������
�
��������������2
���������������;��

	�
Q
(���
����������������W�%3�����
���)3�?�����0�����
��5����������������
����1����
��� ��� ����� �	
��
�
�� 62
�������
� ��� � 
����K���� ��� ������
��
2J�����;�����
��
����K�����0�������
�����2�
�
�������62
���������������
2J�����;��

@
B�2��NJ���
B������
"	�V+ X#

�
���%$� &

����
� � � � W � )$ � �� � �
�� � %$( � 2�
� � ����
�
 � � � 2J�����D���� � �� � 	
��
�
�(
2��������������5���5����5��
�62���������
���������2�
��
�����K���������
��
��C����� � 1�

�� � �� ��
2
��� �:� �
��� ��� � ��K� �
����; �2����
���

����1����
������������2��C�����2J�������

A
������

	�����	��

"	4+��#

�
���%$ &

����
� � � � ������ � ��� � �� ������� �� � �
�� � %$ � 2�
� �
���1���
 � �� � ��?������ � ��
	
��
�
�( � ��2
�
���� � 6��
 � �C����� � �
2
����C��� � �� � 2
�1�������� � ��
5���5��
�����
�K�;�����
�����������6
�����������1�
�������2�
�����������
������� � 2
�1�������� � 
�
���
���( � 2�
 � 2
�K� � ����

�����( � 2����
����1����
�������	
��
�
�;��

,
������

	�����	��

"	4+��#

�
���,$� &

����
����W�%$�����
���,$(�2�
������������
������2�
<
��
�����2���
��������
���������������1����
�������	
��
�
���6����������
�2�
�:�
������2���
����

��1�
��
�R�
�
���
�������������������������(����<
��������
����C2��(�2�
�
��
��������
�����9�����������������
��:����;��

G
������

	�����	��

"	4+��#

�
���,$ )

������ � ���� � W � �� � �
�� � ,$( � 2�
� � 2
���
( � �
 � 1���
 � ��� � ����1����
��� � ��
	
��
�
�( �� ��2��������������2���� ���� ��
�� �%)( �%I( �%@ �� �%*����M�� ��$
%%�G**( ��� �)A��� �����
�
���� �)&&*�Y; � "M�� ��� �/������ ��� �/���������#�
���������*���+���(%,��-��������	��*

*
B�2��U����
���:�

" BV+ �#
�
���%$� &

����
� ���W�)$ ��� ��
�� �%$( �2�
� �����
�
 ���2J�����D������������1����
��� ���
	
��
�
�(�����������5����5��
�62���������
���������2�
��
������K���������
��
��C������1�

�������
2
���;��"��#

'

������

������1�
���
�����
"�/B/+�	#

�
���,$� &

����
� �� �W �%$ ��� ��
�� � ,$( � 2�
� �����������
 �5�� �� � ����
 ���� ������� ����
����1����
�������	
��
�
��������
�� ��1�
��
��������
����2����
������

����
��D
C��
����5����������1����
�������	
��
�
����
��������������
���
��
����� � �
����:����� � 2
������� � ��� � �
��� � G$ � � � ��������� � �� �������������
L���
������%'**��

%&

������

������1�
���
�����
"�/B/+�	#

�
���,$ &
����
������������������
���,$������
������2��������(�2�
�����������
���2����
�
6�����;�2�
�6����
��;��

%%

������

������1�
���
�����
"�/B/+�	#

�
���%$ &

����
� �� � ������ � ��� � �� ��
�� � %$( � 2�
� �
���1���
 ��� ���?������ ��� �	
��
�
�(
��2
�
���� � 6��
 � �C����� � �
2
����C��� � �� � 2
�1�������� � �� � 5���5��

����
�K�;�����
�����������6
�����������1�
�������2�
�������������������
2
�1���������
�
���
���(�2�
�2
�K������

�����;����������.�����������'*�

%)
B�2��/���
��
V�
����
"	�BV+ X#

�
���%I &

������ � � � W �I$ ��� � �
�� � %I( � 2�
� �2
���
 �5�� � 6�� � ����
�� � �
���1�
���� � ���
�
����:���
�� � ��
 � ��1�������� � ����1����
��� � �� � 	
��
�
� � ��� � ��
��
�������
�������
��
�������������������
�����2�
���2����1�
����
�2�
��1���
����������������V���1C�������	
����������������������5����
�������
���)&
���M����$�*�G@)(����%''I;�

%I
B�2��/���
��
V�
����
"	�BV+ X#

�
���A$ &

����
�����
���A$(�2�
��2����������
�5��������
�������5����1�������2
�1��������
�1�
��������������1����
�������	
��
�
����
�Q
�2����
���
��������K����

��������2�
��
�����
��
����K��9������������������������
�1�������
������
��
������������5����1�������2
�1������������2���������
���1���������;

%@ B�2��/���
��
V�
����
"	�BV+ X#

�
���)$ & ���������W�I$�����
���)3(�2�
��2
���
�5���6��
���
���
��������Q�)&>�"�����
2�
������#������������1�
����������2
����������������2J��������
2��1�����



@

2�
��2���������
���1��������;�

%A
B�2��/���
��
V�
����
"	�BV+ X#

�
���%$� &
������ � ���� � ������ � �� � W � )$ � �� � �
�� � %3( � 2�
� � ����
�
 � � � 2J�����D���� � ��
����1����
��� � �� � 	
��
�
�( � ��
�Q
 � �����
2����� � 62������ � ��

��1��������(���
���
�������������;

%,

B�2�
N�
=��
�
X��
���
"		+��#

� &

��������������
��������� 	�(�2
����������
���������	
��
�
�����/�������
���B�1����������
������������
������B�1���������(�����������������

�����

6��
�������D�� �R � ������	
����!
�� ��$ �%�&''( ��� �)&))( �����������
( ��
���������
�������

�
����ZZZ �L��� �	������� ����/������� ���
	�0-� ������)���� 5�� �����
2
�2�
�
 �� �2�2������ ������ �� ���1
����
 � ������9�� ��� �����
����� �2J�����

��������

��D������������
��
��Q
�������
�����2����
�������9������B�1��������������


�����
�������������������
����2J��������2
����������������1����
�������

Q���-� ���O������������������������1�

��(� 1�
�����������9������B�1���
������2�
����2�2��������
���
���

	�
��
�1��J������.�������:��������������/��������
�����
���������������
�����2�����������9������B�1���������(��������������������J���2
��
�
�����
����
���:�
�
����

�
����ZZZ�. ����
�0��1��
��2��� ������)����3�
��� ��
���
����K����2�
�
���2�
�
 � �
 � ��
���
 � ��
2��
����
( � ��� � ��
����� � �� � ��1��� � �����
�0���������2����	��C���� �����
��
�������9����������
������2J��������2�
�
������
���������2�2����9����
����������������
�����������������

	�
��
�1� � J����� � . � ��
���� � �������
�� � �� � B�1��� � ����� � ��
� � �0�
����
�
������
���� � 2�
 � ����� � �������
��� � � � 1���
� � ��� � ���
������� � ��
��� � ��
	��C���� �����
( �5��� �
�� 1�
����
 ��� �
����
����������2�����������
����R�
�������������������
����;�4��5����������������	����6������4�1*

%G
B�2����?���
B����"	4+	�#

�
���)$�
�
���,$�

&

����
����W�)3�����
���)3����������������������������
���,$(�2�
��2
���
�5����
?�
�������
��������))�:�
�������
��6��
���
2
�����
�2�
C������2�
��
��
����������1�
��
���5���
��:�
������
���;(���
���
��5���������
�������������
2���
����
�6��1�
��
��������
��D
C��
�;��

%*

������

���Q
��
��
���:�
"	4+�/#

�
���%$� &
����
������������������
���)3(�2�
������
�
���2J�����D������������1����
������
	
��
�
�(� ����������5����5��
�62���������
���������2�
��
������5�����
�������
��C������1�

�������
2
���;�

%'
B�2�� �
���
����U����

"�.�.+��#

�
���I$ &

������ ������ ����������W�)$�����
�� �I$(�2�
��2����������
�5�����5����1������
2
�1�����������������1����
�������	
��
�
��2�������
�
����K�����
�6�������
2
������������
����2
�1���������K������5���������
��
��Q
�������5��������
��1��������
�
�����
����������2��C1���;��

)&
B�2�� �
���
����U����

"�.�.+��#

�
���I$ &

����
����W�@$�����
���I3(�2�
��2����������
�5�����5����1�������2
�1������������
����1����
��� � �� �	
��
�
� � 2���� � ��
 � 
����K��� � �
 � 6������ � 2
����� � ��
��
����2
�1���������K���������
����C2��(����5���������
����
��
����C2�����

��
� � /�����( � 5�� � ������ � � � �
��Q
��� � �� � 5�������� � ��1������ � 2�


�����
����������2��C1���;�

)%
B�2�����Q
��
��

���
"	4+ X#

�
���,$� %%

����
������������������
���,$(�2�
��2
���
������2�������K�������������1����
���
���	
��
�
�����6/5��2�
���������	
������������������"/	��#����5������R
����������
����K���;��

���������*���($7�((7�'%7�'+7�+87�997�$%%7�$$$7�$8+7�$:+7�$99���(%8��-�
������	����
����������*

)I
B�2�����
�

��������
"	4+V�#

�
���,$ %%

��2
�
��������������� ������� ����W�%$�����
���,$������������������2�������(
2�
� � ����������
 � 5�� � � � ����1����
�� � �� � 	
��
�
� � 
�����
� � 6�
�
����
�2
��������
�������������
�����
�����
��D
C��
��������������������
��
����
��������
����:�
�������������
���
�1�
����������������LX4�;(�����
���������2��������
���1���
����

���������*��� (87�:%7�:;7�',7�+(7�9;7�;;7�$8,7�$'97�$,;7�$9;���(%(��-�
������	��*

)@
B�2�����
�

��������
"	4+V�#

�
���,$ %)

��������� ��������[�����
���,3(�2�
��2
���
�5������
����C2����2
�
���
��
6����
��:�
����������
2��:�
�������������1����
�������2
��
�
��2�
�
�� ���
����� ���� ����

�����������
��������
�� 2J������ �
�����2��( �2�
�
2
�
���
���
��������������
�
���������
����:��1�

��;��

���������*���(:7�8;7�:97�''7�++7�;97�$%+7�$$(7�$8'7�$'+7�$+%7�$+;���(%$
�-��������	����
����������*

)A B�2�����
�

��������
"	4+V�#

�
���%$� %% ����
����W�%$�����
���%3�������������WW�)$���I$�����
���%3(�2�
���

%# � ����������
 �5�� � 6��
����������
���� ����������� ��� � ����
�����2J�����
�5����� � ������1������ � 2��� � 
����C2�� � ��
 � � � 1��������� � �� � ��
2
�
 � ��
��?����������	
��
�
�(�������5�����������������������2�
���������������
�����:� � ��?�
 � 1����
������� � 2��� � �����
 �
�����2�� � � � ��� � ���1���
�

������������������
����
�� ��������
2
������ �2J������ ����
����C2�� ���



A

�0������ � �� � ���������� � 2
�������� ��� � 2
�1���9�� � 
�����
������� � �� � ��
��
2�������������
��������
2
�����2J�������2�
�������������
����C2��
�����2������?�
C�����������2�
��������;-

)# � 2
���
 �5�� �� � 6��������� ��� ���
����
�� ��+�� ��� ��
2
������ �2J������
����
������
2��:�
�����1���������������������������
�����
���1�

��9��
2�
�������� � 2�
� � ���
2��:�
 � � � 2
������ � �� � �������( � ����
������ � � � �
�
����:���0��������2���������1����
�������2
��
�
�;�

I# � ����������
 � 5�� � 6�� � ��1�

��9�� � �� � 2
��
�
� � ����
 � ��

��
2�
���:�������
���������:�� �����2������4
����:�(�/
2
�����������
�������<�����
��2��������2������
���������
����C2��;�

���������*���('7�897�:+7�,$7�+$7�+97�$%$7�$(87�$8:7�$:97�$;(���(%%��-�
������	��*

),
B�2�����
�

��������
"	4+V�#

�
���,$
�
���G$

%%

������ � ���� � ������ � �� � �
�� � ,3 � � � ����
� � � � �
�� � G3( � 2�
�� � %# � 2
���
 � �
��
�����
�������������
����C2�������2�
�
����
��6��1�

�����2���
����
�������1C�������
���������������1�
������
�1�������������������
����:�;-�

)#�����������
�5���;�������������������������
�������1C������������
�K�
������K��!
�� ���� ������
����
�K� �� � 
������� ?�
C���� ������������� ����
� ��

����C2����1�
��������������1����
��;�

���������*���(,7�8+7�:,7�,%7�+;7�$%(7�$%,7�$((7�$887�$:;7�$;8���$;;��-�
������	����
����������*

)G
B�2�����
�

��������
"	4+V�#

�
���%) %)

����
�����
���%)(�2�
��2
���
������������������6������:��X����
����	
��
�
�(
���<
�������������
����C2��(������
2�������2�
���
������
��
�2
����������
���2���
�2J�������������������
����:���
��;(�2�
��1������K�
����0���������
	
��
�
����K���
�2�
������
2����
���2�
�����(���2�����
��������5�����

�1�
��R��������( ��������������1���������� ?�
�������������1����
��� ���R
�1�
������1�

�������5����1������;�

���������*���(+7�8,7�:'7�';7�+%7�;%7�;+7�$$87�$(;7�$',7�$+$7�$9%���$;9��-�
������	����
����������*

)* B�2�����
�

��������
"	4+V�#

�
���%$
�
���)$
�
���I$
�
���@$
�
���A$
�
���,$
�
���G$
�
���*$
�
���'$
�
���%&
�
���%%�
�
���%)
�
���%I
�
���%@
�
���%A
�
���%,

%) ����
������
����%3���%,(���
���2
�2�����������������������	
��
�
��4
����:�
��������2�
��4����(�����������������

����

6�
���%3�/���� ������	
����!
�����������������/����� ��<�������!���������
 ���������
��0�������(����1�

���
��������(�2����S����(�/������(�B���
���
L���
��( �
����C2���������������������
�����2
��������
�1��� �����=
����
������
������
����������(���
�� �)�������������	���0-��������������
���<���� � � �/���0-� ��� � ����� �����	���� � . � )����0-� �� �#
���)�	�0-�
���)����������������<���������������<����������
W%$�.��2����������
����:���
������2����	
��
�
����
���
�������2�
�����
M��( � ����
���� � � � 	
��
�
� ��������� � �� � ������ � �� �/����� � 4Q����� � �
/
2
����"	
������#��������C���2����M������%)�A%I(����),���������
�����)&%%
�(���������
��
��������2��������5��������
(������2��������M������*�G@A(���
'������K�
�
�����%''I(����M������%I�@)'(����I%����
�
������)&%G(�����
��������9������������

��2���������

W)$ �	�
� � �
2�����
 �� �	
��
�
� ��� ������ � 1���
������ � 2���
�� � ����
���

����!
�����2J������(�������

�����1�������2����M������%%�%&G(����,������
��
���)&&A��

�
�� �)$�	���
����� ����
���
����	
��
�
� ������������7� ���<���������

���<��������7����������$9���������������#
�=
�������2�������C������1�

�������
����:������
2
���(������
�����2J��������
�����������2
�����-

��� � ��� � �0�
�� � ��������� � 
�
���
��� � ��
 � 2
������� � �� � ��
���� � ��

:�������������������
�������(�
��
����
�
�����
��1�

��-

���� �����
������������1C���������������� ����2
����������������������5��
�
�������
���)&����M������*�G@)(����G������K�
�
�����%''I(��������1C������
����
�K��2
���������
��(��0������������������2������2�
�
�
��������0C���D
��������- �
����������
��
��
2
�������
������������" /�#�����!�������
��
��
2
���
" /#�����
2
�������2�5�����2�
��� "/		#(� ���:����1�
���� 
��������
���

����� � 
Q���( � ��1�

��� � ��� � �����
��9�� � 
������ � ��� � ���� � 
����
����
��
�� � R � ���� � �� � 2����� ��� � ����
����( � ��1�
��
 � � ��
 � ����
��D
C��
�
�������-�

���������?���!�������������������������������������
2
�����������������

��2���������������
�������

�
���I$�������
��������	
��
�
����
��1�����2�����
����:���
��
�2����1�

�
����
=���� � ���2�������K��� � 2��� � S����( � ���1�

� � 
�����
����� �
	�
��
�1� �J����� ��� ��������� ���������
���������� ��� �/
2
���� "����#(
�������C����������

������M������%I�,,G(����%G����
�������)&%*(���(���
����� ���� ��0����
�
( �� �!
��� � 
��2������� � 2���� �2��C����� ��� � �
����:� ��

��������
����C2��(�2����������
�������
����:���
����������R�2����1�

����



,

5����
������������

�
���@3�.��!
����������
�����
�������
����������
�������/������(�B���
���
L���
�� � � � 
����C2���( � ��
 � ��
� � �� � ��������� � �� � ��������� � �����
�
�����������5���2�����
�����
��������2
�������������
�����(���

�����
������
���� � � � �� � 1�
���� � �� � ��������� � �����
���� � ��
 � !
���� � �
����������2J�������5������
�
�
����	
��
�
�( ������-��	��������������
���<���� �	��� >������ ��� � (% ������ ��� � ���<���� ���������7 � � � �����
�)���
���� � �� � ������� � ����� � %9=%%�� � � � $9=%%��( � ��
�����1�

�
������2����1�

������
=��������5����
�������
���I3�����
����
2��
2���������� � ��� � 2����� � �� � �
����:� � �
�����( � ����
������ � ����
��
����
C������ � � � 
�5�������-
����2�
�������2���������
����:�(����������
������
����:���
�5��������2�
�
����
� � �5����� � ����
���� � �� �	
��
�
�( � 
��������� � �� �
����C2��( � � � 5��
����
�
�
���1�����������
����(����
��������
2�������K�
������
����
C������
�������������������
�
�����
2��:�������
���1�

�������5����1����9��
�������� �
����:���
 �5��( �
������� ��������
��( �2���
� ���
 � ����
��� ��

��
�� � �� � 5����1������ � 2�
�������( � ���1�

� � 
�����
����( � � � � � 2
��
�K�

��
2
��5���2���C��������
����:���
���

�� ���
�
���
 � ��
2���������
2
������
���
 �
�����2�
���2���� 1�
����
-
�� ���?���1�
C�����1�
�
�������?������
�
�K��������������
�������������
����� 1�
�������� � 1�
�� �
���
( ��+������������
�
��
�������������
��- ��
�� � 
��:�
�� � 2
�����
�� � �� � 1�
C���� � 
���2�
�������
�����2�
�������2���������
����:�(�2�
�
�������2����1�

������
=��������5��
�
�������
���I3(���
�����
�����
2������
�����R�S����(�5���1�
��2������
���
��1�

��9��( �� � ������1���������� �
����:���
 �5��������2���������������
��C������1�
�������2����-

����
�����
�
�����������
���2�
�
�������2����1�

������
=��������5����
���
� � �
�� � I3( � ���1�

� � 
�����
����( � � � �����������( � � � 2����������� � � � �
����
2��:����� � �
����:���
�� � ����
���� ����	
��
�
������0�
�C��� ����
���������� � � � ���� � ��
���C���-
���
����:�
����������
��X�
������	
�����������������O��X	���
���
����
������
����:���
���������C5��������G(A>�"����������
������������Q��
���2�

�����#�
�1�
������������
����2����2
���������
��(������������
����(���
�����
����
���)*����/
�����������������������%&I(����%)��������
�
�����)&%'(

���������������2����������C����������������������W�)$�����
���)%����M�����
*�)%)(����)@����?��:�����%''%(��-

��� � �
��
�� � ��
 � � � ����� � �� � ����D�
���2�
�� � 2�
� � � � �
����:���
�
W%$���������������������
���������� ����/
2
����"����#� �����
�����R�
���
���
�����
�����
�����������
����C2���(���(�����������0����
(���!
���

�����2�� � 
��2������� �2�����2��C��������� �
����:���� 
����( ���0����
�����
�������� � �� � 5�� � �
��� � � � ������ � ���
W)$��������������1����������
����������������������5����
���������������(��
!
��� � �� � �������� � ��
� � ��
����� � � � �������
 � �� � ����
�� � ��������
����
2����������
����:���
�����2�����K������
�
����(���
��������
��������

������������
WI$�.��2����������
����:��2���
�����
����
�������2�����!
��������5��
�
����������������
�������������2
Q�������I&�"�
����#�����������
����:���
��
5������������
�
����2����(����5�����2���
�����
��������������2�
�����
��
2������5������������
�
�������

�
�� � A$ �� � ?��-� � ��/��27 � 	��)���� � ��/
�������7 � 	�����������0-�
������ � �� � 
���� � �� ����� � ���2���@������ � ��	����� � �� � ���<�������
���	�����������/����� 5��(����1�

�����������2�����!
����������������
�� � 5�� � �
��� � � ������� �� � �
�� � @3( � ���2� � 2���� � �� � �
����:� � � � ��
2
�
�����
��
�������?�
��������)&�"�����#�:�
�����
�����(���5�����
�Q
�1�
�
?���
������2���
��������I&�"�
����#����������������������
�2����(�2�
�������
���������( � ��
������ � �� � �
 � ��
�� � �� � �
���1������ � �������� � �����(
2
�2�
��������R�
�
���
�����

�������
��������1�������
����(�2
��
���
��
�����������
�����-

����������K�(����1�

��������(������������2���
����������A�"�����#��������
�� � ������� �
���
������ � �� � %)& � "����� � � � �����# � ���� � 5�� � 2���
� � ��

2
�

������2�
�
����,&�"��������#�����(�2�
�
�5��
�
��������
��:�
-

��������1����
��������������������2�
�
�����������J��(�2�
���Q�%A�"5���K�#
����(����1�

�����������
Q����(��-

�� �R���
����� ��� �������9������5����� �2�
� � 
�2����( ����
������������
��J�� � � � ����
���� � ���������� � � � �
������� � �� � ����������
���� � ���
�����������
W%$�/
�������������
����������2��������
���1���������������

��������
M�� � ��� � ���

��� � � � ���2����� � �� � ����1C��� � �� � 2
������� � ����������(
��
��������)�"����#��������
�����
����������
����������
�
���
���������
����1C����



G

W)$ � � � 2�
���� � �� � �
����:���
 � � � ��
 � 
����:��� � �� � ����
� � X�
�� � ��
	
�����������������O��X	����������C5��������G(A>�"����������
����������
�Q��
�� � 2�
 � �����# � ��
� � ��
� � ���� � � � ����
 � �� � �1����� � 
�
���
����

��������

�
���,$�������
��������	
��
�
����
������������

�����2����������
����:���
-

��� ��� ��1C���( �5����� � 1�
 � ������������ ���� �������
���� �� �5���5��
 ����
������9�� � ������������� � ��� � ������� � � � � � �� � �� � �
�� � )3- � �
���� �2�
� ?����������(��2�������D��(�����������(���2
�����������
�� �@*)���
�����������������M�������4
����:�(��2
������2����B��
���D�������A�@A)(���
%$����
�������%'@I(�2������������
�����
�1�������
������2!����2
�K�����,
"����#�
�����������������������
����-

�
���G3�.��
����C2���(��
����2�
������Q��������
���S����(����/����������
B���
��� �L���
�� �� ������� �� �������:��X����
 ��� �	
��
�
�( ���1���
�� ���
�
�����
�5���!
���������������������������������?�
��������2���
����
��

2����������
����:�����<
��������	
��
�
�(���2
�
���
���2
��
�
�����
5����1�������2
�1���������5������5��
������
2��������������
����:���
��
R����������������������2������

	�
��
�1� � J����� �A � ���<������� � �����2 � �	
��� � ��5 � #
���� � �����
������������>���������)������������*�:B�����������	���������	
�������
5����
������������

�
���*3 ����2�������
����3��������C������������/����(����<
����������(
�����
2�������2�
���
������
��
�2
���������������!
�����2J������������
�
����:���
��(���
��������������	�������	����
�� � 1�
����
 � 2
�?���� � � � ����������� � 5�� � ����
���
 � � � ����
 � 2J����� � � � ��
�
����K��9�������������������������
��
�2����������
����:��������

�����
	
��
�
�-
�������������
��������
�����������������������������������������
����������
	
��
�
����
����!
�����
��2���������2���� ����

�������������������
�
����:�-
���������
���
�2�
��
�������
��!
����������������������
�����
�����2J�����
��
���(�����
���(�����
5�������1����������������
��������������2
��������

������ � R �
�����K���� �� � �� �����������
���� � �� ����������� ��� � ��������
1�

��( ����5����1�������2
�1��������( ���2�
�����(������
�������
�C�������2�
�
����
������������
����������	
��
�
�-

�����������K�
����������R�1�

�����2�
�����
2
�������
��
�(����
Q�����2�
�
����
���������
����:����
����(���
��
��
Q�����2
���������
����������
��
�������
�
���� � �Q����� � �� � �
����:� � ������������
��( � ��������� � ��
���2�
�������-

�� �������
�
 �2�
� �� �����������
���� ������
2��:�� ������������������
��9�� � � � 2
�?���� � �0�������� � 2��� � 	
��
�
�( � � � K���
 � 2��� � ��� � �
2��
�
���2�
�����-

��������������
�
������������������������������9�������������	
��
�
�-

������0�
��
���1������K��������	
��
�
�(��
����2�
�������
���S�����

�
���'3�	�
��������2�
C�����
�5������
�
�
����	
��
�
��������2������
���2��������
����( ����D�/-������������������#
�������������* �:� ���
	��������������-���������7 ���	�������� >
����	�
��7 � ���<���������
�)���
����
����	����E������������
��	
�����7��������
E������6�������
���<����������	����<���E���������	������������������0-��������
�0�
�����������������������������-��
W%$ ��-�������2��������������/�������D�/-���
����������#
����

��7
��� � $( � F��E�G ������ � ���������� � �� ������� ��� � ����-�7 � ���
E��� ��
�6�����������<�������������	���������� ������� �����������'H���
�6��������/�����
W)$ �.�������:���������� ����4
����:�( ������������
�������5����
�����
2�
��
�1� � J���� � �� � �
�� � %%( � ������
�
� � ���
� � 2������ � �� � �0����� � R�
������9�������������������������������W%$�

�
�� �%&� �\����������
����K������������
����9���2����	
��
�
�������
��

�����5�����������
�
���������9��������������1���
�������
�5������

�

��2�����(�������

�������
���GI(��(����M������'�A&@(����I&��������
�
����
%''G�

�
���%%��.�������:��������������4
����:�(��������C���2����B��
�������'�'@@(
�� � I& � �� � ?��:� � �� � )&%'( � �����
� � ��

�� � ��
2��
����
�� � 2�
� � �
��
2
�
�����������2�����������M���

	�
��
�1��J��������
���
������
���
����������������	
��
�
�(����������
��
������:�(������
2��������
�2�
�������2�
���
��(�2�
�����
2��:�
��������



*


������( � ������������ � ��� � ��1�

��9�� � � � �02������ � �� � �
������9�� � �

���
�����9�����
�������������������	
��
�
��

�
���%)��/�����������
���
�����
�'&�"�������#��������2�
��
���������������
2����������;
�
��)$����2
�
�
D�������
����%I���%,���� ������	
����!
����$�%�&''(���
)&))�

���������*���(97�8'7�::7�'97�;$7�;,7�$%'7�$$:7�$(97�$''7�$,97�$9$���$;+
�-��������	��*
4��5����������������3����6������4�1*

)'
B�2�����
�

��������
"	4+V�#

�
���%$
�
���)$
�
���,$

G

����
������
����%3(�)3���,3(�2�
��

%# �2�
� �
���1���
 ��� ���?������ ��� �	
��
�
�( �2
���
( � �� � ����
 ��� � 6��

�C�������
2
����C�������2
�1�������� ����5���5��
�����
�K�;( �2
���
 � 6��

2
������ � ������ � � � ����
���� � ���
����
 � �� � �
����:���
( � ��
 � �C�����
�
2
����C�������2
�1������������5���5��
�����
�K�;-

)# � ����������
 � 5�� � � � ������ � �� � 	
��
�
� � 2���� � 
����C2��� � ��?�
��2���<������
����K����
������������
�
��������2�
��
�����
��� �����Q
��
�� � 4
����:� � � � 	
���������( � ��� � ��

�� � �� � 
�����
����( � 5�� � ��
�Q

��1���
�� � 6� � O �� � 1�

� ��� �������� ���� � ����
������� �� �2
������ ���������
2J��������
2��1�����-����O����������9����������������������������1����
�����
�� � �����9�� � 2�
� � 2�
����2���� � �� � 2
��
�
�- � ��� � O � � � �1�
�� � �� � ��
��
5����1�������2
�1��������(��
�����������
���	
��
�
��������������������
���/������4Q��������/
2
����"	
������#��������C���2����M���%)�A%I(����),
��������
�����)&%%�����
���	
��
�
������2
����K���
-����O������1�

�
���
2��:�
����(�
�����
�
��������������������2
��
�
�(�5����������


����K����2�
��
������
������
=����(�����O��2����������������
������2����
���5��������
(�������2��������M����$�*�G@A(����'������K�
�
�����%''I(���
M�� � %I�@)'( � �� � I% � �� � 
�
�� � �� � )&%G( � � � ��� � ��������9�� � ������
��

��2��������� � �� � O � ������ � � � ����
����9�� � 2��� � 	
��
�
� � ��� � �
��

�����5�����������
�
���������9����������������)&))

I# � ������
 � 5�� � �� �
����C2��� � ����
�� � 6�
 ��
��������� ���
 ��������� � ��
�����
� � �������� � �� � /
2
��� � "����# � �����
���� � R� � ���
���
��
��
�����
�����������
����C2���(���(�����������0����
(����!
������������

��2��������2�����2��C����������
����:����
����;��

���������*���(;7�8:7�:87�,(7�,;7�9%7�$8(7���$;,��-��������	���

I&
B�2�����
�

��������
"	4+V�#

�
���,$ %@

����
����W�%$�����
���,$(�2�
��2
���
�5���������
��������������2���
����

��1�
��
 � � � 6�
 � ����
��D
C��
�( � ���� � �����C�� � �� � :�
�� � ���2������� � �

��������������5����1�������2
�1����������������
�������0������������<
����
���	
��
�
�;�

���������*��� 8%7�887�:(7�,:7�,97�9$7�$%87�$(%7�$8%7�$:87�$+87�$+,7�$;'7
(%'���($%��-��������	����
����������*

I%
B�2�����
�

��������
"	4+V�#

� %&

����
������
�������2������������ 	�(�2�
�����������
����02
������6	
��
�
�
������������	
�������������
������������������
��;�2�
�6	
��
�
����������
���	
�������������
����������;��

���������*��� 8$7 �8(7 �:$7 �,87 �,+7 �$%:7 �$($7 �$8$7 �$:'7 �$:,�� �$;:��-�
������	����
����������*

A%
B�2�X����:�
]������
"B/ +�	#

�
���%$ &
����
� � � � ������ � � � �� � W � )$ � �� � �
�� � %$( � 2�
� � ����
�
 � � � 2J�����D���� � ��
����1����
��� ����	
��
�
�( � ����������5����5��
 �2����������
� � 65���K���
�����������������-;�

A)
B�2��N����
�Q
���
"	B4+��#

�
���%$ &

������ ������ �2�
��
�1�� �����
�� �%3( � 2�
� �2
���
 �5����� �����1����
��� ���
	
��
�
����
�����
�������61Q
���(�LX4�(�%I$(�����
���2
�2�
�����������
���
��
������ � 2
������� � �� � ������������ � ��� � M��� � �� � 4
����:� � O � �M4;�
/����������5���6������
��������2
���������
�����
��2����2��������
������(
5�����
�Q
��
��
����
���2�
���������������2��������1����
�������
�����
2����	
��
�
��������������	
�������������
������������������
��;��

AI
B�2��N����
�Q
���
"	B4+��#

�
���%A &

�������������
�����2�
��2
���
�5������6������������
������
����0���������
	
��
�
��������������	
�������������
������������������
��(�������������
����
�����
����:�����(�1���
�������
���������������
��
����
����������
��
1���
�� � 5��� 
�2����
� �2�
� ��� �2
�1����
�� �������
�� ���
��� ����2����
��
2
�������2�
������
����C2���5������
�
����	
��
�
�;��

A@ B�2���������
L��:��"		+��#

� & ������ � ����� � �
����� � �� � 	� �2�
� � 2
���
( � �
 � ���( � �� �/������ �L�
C����
��
C������ "/L�#���������L�
����
�����
��� � "�L�#(� ��������
 �����
������
����
�����������2
����K��������
������
��L�
����
�"����L#�������������

�������������������
�������������2�������������2
����K��(�������
��

6�
���[[�	�
����
2
�
����2�
���������2
������������
���@)'����������������
����M�������4
����:��O��M4(��2
������2����B��
���DM����$�A�@A)(����%$���

�������%'@I(��������������
���������5���5��
�����
�K��������
��������
�
2
���
���
��
�����
 �������
�������1�

������Q�����D2
�1�����������?��



'

1���9�����
����
�5����1�������2
�1���������

W�%$ �.���
2
�����
�����������
������
�� 1�
����
( ����5��� �
������M�� ��$
%%�I),(����)@����?��:�����)&&,(�2�
����
2
�
�
������2�������������������
�
����(�2���
���
��
�����
�����2
����K�������	
��
�
�������2
����K���

	
�1�������� � ��
�� � ��� � /������ � L�
C���� � ��
C����� � � � ����� � L�
����
��
��
�����

W�)$�/�������L�
C�������
C������"/L�#���������L�
����
�����
����"�L�#
�����
����K��9�����
�1���� ���
�������5���2
�
���
������������������
2
�1���������������

�������
���)I(���������W�)$-�������
���)*����M����$�'�I'@(
���)&������K�
�
�����%'',-

W�I$�4��������/�������L�
C�������
���������
�����������L�
����
�����
���(
2�
��������
�
���1����������2
����������W�%$��������
����(�����
��1�
���

��
��� � �Q������ � �� � �� � 5����1������ � 2
�1�������� � ��
 � � �
���������� � ��
	����������������
�<����(�������
�����
���	�
���
���/+�/V��$�%+)&&,(
������
�����������
�����������
�K�������
������������1�

���
���2���
������
���������������2
����K���
�	
�1���������O����	(�������2�
�����
2
��
�
� � �� � ��
�� � �� � �2
����K���
 � 
����K��� � �� � ������ � � � 2�
�� � ���
�
2
�����
����� ��� ���
������
� � 1�
����
( � 
��2������� ��� � ��2���1��������
������(��������������
�������������=
������;�"��#

W�@$�.� �����Q
��������
������
�(�	����
�������������
���������
������

2�
� � � � 1�
����
 � 2�
����2���� � ��� �/������ �L�
C���� � ��
C����� � � ������
L�
����
�����
����������9������1�

�����2
��������� ������� �������
����(
1������ � � � 	���
 � /0������� � ����
�K��� � � � �����
 � ���
��� � 5�� � �������K� � �
�
����������
��
����������������1�

��������?����������
2���"��#

�
�� � [[ �. � 2���
 � �0�������( � �� � <
���� � �� � ���� � ��
2��������( � 2���
�
��������
 �� ���
��� ��������
�����������2
����K�� ������
������
� �L�
����

"����L# � � � ��
 � ����
��� � 2��� �  �����Q
�� � �� � ��
������
�( � 	����
�� � �
��������
����( � ��
 � � � 2�
����2���� � ��� � ���������� � 4�

���
����( � ��
������:���������� ��� �B���������
�������
�� ������������ � "����
�1#( ���
/
2
�������������������4Q��������/0���������
���"/
���
#(���� �����Q
��
������������(�������
���
���������������N���������"��N#(����
���
�����
��
������
��L�
����
�����2�
������
��"��L#(����������������������/������
L�
C�������
C���������V
�����"S�/L�V#(������
�����V
������
������2����R�
 ��
� � � � 	�5����� � /
2
���� � "���
��# � � � ����
���� � �������� � ��
�2
����K���
���
���"����
#(���
���1�
����

� � O � 2����?�
 � � � ���
����
 � �� � ��9�� � ����
�������������� � 
����������� � R
��2���������������
�����������2
����K��������
2�-

�� � O �����������
 � �� �
���� � ������( � 5������������ �� � 5�����������( � � � ��
�

���������-

����O�������
(����1�
����������0�
�C���(���������
���������
�����2
�2�����-

���O�2
�2�
���2�
����2����(��������L(�������
�������������5����0�
��

�����������
������������R�?��������������
2�(���Q
���5������
�����������
������M��-

� � O � ���������
 � � � 2�
����2���� � ������ � 2�
 �
��� � �� � 
����K���� � �� � 1!
���
2�
�!�����(����<
����������(�
������������������(���
��������R�1�

���������
2
�2����� � � � R � ��������� � �� � ��9�� � 
����������� � R � ��2�������� � �
����
�����������2
����K��������
2�

�
���[[�.��
���@I&���������������������M�������4
����:��O��M4(��2
�����
2����B��
���DM����$�A�@A)(����%$����
�������%'@I(�2�����������
�
���
��
��������
�������

6�
�� �@I&� �.����
����2
���������� ������� ����
�� �@)'�������������������
��
�� �
�����
���� � 2���� � ��������� � ��������� � 5����1������ � �
 � 1�

����
�Q������2
�1���������
��!�����

��O���
��������������������2
����K���
-

�� � O � /������ � 4Q������ � �� � /�������( � ��������� � ���������� � 1���
��� � ��
��������-

����O�/�������L�
C�������
C��������������L�
����
�����
���-

���O�������������
�1�������
������(�5������:�
�2�
���?����������������������
�������������������������2
�1��������(�
�����
��������������:�� �����2��
����B�
����������
������

��D��������������2
���������2�
�������������
����
�����������1����������
�����
��������������B��2�
��������������
������B��2�
�������/������(
���B���
����L���
���������
����C2����

�����������������������������������������������������������������������������������������������������������������"��#

4��5����������������	����6������4�1*�

,A B�2��X����:�
]������
"B/ +�	#

�
���I$ % ����
�����
���I$(�2�
��2
���
�5�����5����1�������2
�1�����������������1����
���
���	
��
�
����
���%#���
���:�
�
���
C��
�����%)�:�
���2�
�������I&�����
���2�

�����������	
��
�
������
���:�
�
���
�0�
�����%&&�:�
���������(



%&

��������1����
����5�����
2
���
�
�5����1�������2
�1�������������
��
-����)#
��
���:�
�
���
C��
�����%,&�:�
���������
��������1����
�����
���������*���,'���98��-��������	��*

,,
B�2��X����:�
]������
"B/ +�	#

�
���I$ %
����
������������������W�A$�����
���I$(����������
���2����������������5����1������

���������������6
�
���;�2�
�6������<����;�

���������*���,,���($$��-�����������*

G@
B�2��MC����
��� ���
"	�V+V�#

�
���%$ &
������ � � � W � A$ � �� � �
�� � %3( � 2�
� � ����
 � 6� � ��
������ � �� � �
2��:� � �

���
������� � 1�������
� � 2�
� � ���2���� � ����
��� � �� � 	
��
�
� � ��Q � �
2�
C��������Q

�������������������5����
������W�@$;�����
���%$�"I%+%)+)&))#��

GA
B�2��MC����
��� ���
"	�V+V�#

�
���)$ &

���������W�I$�����
���)3(�2�
��2
���
�5������2
������������������2�
���������
��������1����
���(�6��Q
�����
2��������������2
����������W�%$(�����
�����

���������� � �
 � ���� � �1�����( � �� � 1���� � ������ � ��� � ����
�������;( � ���������
��1�

��9���5�����������
��Q
��������������(����������
�������������1������
������������
��2��������2������9�����������K�����
�����
�������

��������
�������
�����(����<���������������9���

G,
B�2��MC����
��� ���
"	�V+V�#

�
���@$ &

���������2�
��
�1��J���������
���@3(�2�
������������
�5�����
���������
���
�2
������
���������1��������2�
��1��������������
��������	
��
�
�(�6����
��1�
��
���,&>�"���������2�
������#������������9���
����K�����2�������
���
���1�

��������������������������������5����1�������2
�1��������;��

*)
B�2��X����:�
]������
"B/ +�	#

�
���%A %

������ � � � 2�
��
�1� � J���� � �� � �
�� � %A( � 2�
� � 2
���
 � 5�� � 6��� � :� � �C�����
�
2
����C�������
�����������
���������
���������������=��
�;(��0���������
2������������ � �� ���� ��������� � 6
��2��������K���� ���������
�� ��
 �<
����
�
����:�����;�

���������*���9(���(%:��-��������	��*�

*@
B�2�� �
���
"	4+��#

�
���)$ G

���������W�I$�����
���)3(�2�
������������
�5�����6
����C2�������
�������
�

2
�?�����������
���������
�2
�K����1�����(���
�2�������������B��
���.1�����

�����2����������
���� �����Q
������4
����:����	
����������

���������*���9:7�$%;7�$$;7�$:$7�$:(7�$'%7�$9,���$;$��-��������	��*

*A
B�2�� �
���
"	4+��#

� ,

��
���
�R���
������)I(�@&(�@'(�A,(�G)(�*'(�''(�%I,(�%A*(�%,'(�%*'���)&)�
B�1�
�����Q �� �2
��������� �5���� � 6��
2� ��
�5�� �� �����1����
�� �������

�������������	
��
�
����
���������
������
����
2�������
�����2�
��1���
2
���������
���;��

���������*���9'7�$$%7�$$97�$:%7�$'$7�$,(7�$9'��-��������	��*

*,
B�2�� �
���
"	4+��#

�
���I$ G

������ � � � W � G$ ��� � �
�� � I3( � 2�
� � �0���
( � �� � 6���� � �� � �1�
�� ��� � ��
��� � ��

������������
�2
�������� � �� � 
�
���;( �5�����?� � 6��
������ �� ��������R
����
����������
�����������!���������5������2�
�������
2��:�
��������
�����;�

���������*���9,7�;87�$$+7�$8;7�$'(7�$,$7�$+(���$9:��-��������	��*

*G
B�2�� �
���
"	4+��#

�
���%) G

����
� �� ��
�� �%)( ��0���
 �5���� � �����Q
�� ��� �4
����:��� �	
��������� ��
��
6������
������
����C2����5����1�
��
�
�������2����	
��
�
�(�����
������
���2��������M����$�%I�G&'(����%@��������������)&%*;�

���������*���9+7�;:7�$$,7�$897�$'87�$,%7�$98���(%+��-��������	��*

')
B�2�� �
���
"	4+��#

�
���%$ @
������ ���W�A$�����
�� �)3( �2�
������
���6
�����
����������2�������5��� ?�
2�
����2�
�
����	
��
�
�(��
����
����������������
����
��2�
C���;�

���������*���;(7�$%97�$';7�$,87�$9+��-��������	��*

'A
������

	�����	��

"	4+��#

�
���%$ @

������ � � � W � A$ � �� � �
�� � %3( � 2�
� � 2
���
 � 5�� � �� � 6���������� � �� � ��
����
��
2J������ � 
�����2��� � � � �� � ���������� � �� � �
2
������ � 2J������ � ����
��
���
2��:�
�����1�����������������������������
������������
�����2J�����(
����
���
��1������K�
���2
������������������������
������������1�
������
��
������������1����
�������	
��
�
�;�

���������*���;'7�$$'7�$':7�$,:7�$9(��-��������	��*

%)@ ������

	�����	��

"	4+��#

�
���%$
�
���,$

) ����
����������������������������
���%3(�����
���������������������������W�%$���
�
���,$���������������2�
��
�1������
���,$(�2�
���

%#�
���1���
������?����������	
��
�
�(�2
���
(��������
����6��
��C�����
�
2
����C�������2
�1������������5���5��
�����
�K�;(�6������
�2�����
����:�
�5������5���������1�
����������
�����2
�������������(�2
�
������(�����
(
���2��9�� �R� ��K ���� �2
���C2��� ���������������� �� �������������� ����
���
��
�-;�

)# � 2
���
( � �� � ����
 � �� � 6� � ����
 � �� � ��0C��� � 2������
�� � �� � ����
�K�
������K��!
�� � �� � ����1����
��( � � � �C���� � �� � �����( � 2��� � ����
2��:� � ���
����������;( � 6����
 � �� �2���
���� ��� �����1����
�� �2��� �����
2��:� ����
����������;-�

I# �2
���
 �5����� ������
�<���������0���������2
������������������2��
�
������6�����
���
����2
��
�
�(��
2�
������������������1�

���������
�����
2
��������������
������������

�����
����:���
���������
����:����
����R
����������� � 2J����� � ����1����
��( � �
2�
��� � 2��� � ���������� � 5�� � ��1��� � �



%%

����
������ � 2�
 � �0��2������ � ����
���� � 2J�����( � ������
���� � ����� � ��
��
����������

�����6���

���������*���$(:7�$::���$,+��-��������	��*

%)A
B�2��/���

����
����

 ����"		+/�#
�
���A$ &

����
�����
���A3(�2�
���02������
���2�������������������������������������
�
����
�Q
������
�
�
����
�������������������
�����2�
���������K�
����1�
��
�����
�������5����1�������2�
���������1����
�������	
��
�
���

%),

������

/���
��
V
���

" BV+� #

�
���%$
�
���)$
�
���%I
�
���%@

&

�����������������������W�)3�����
���%3(����������W�I$�����
���)3�������
����W�)$���
�
���%I(�2�
���

%#�������
�2���������
���1��������(���
�
���������K���������(����2J�����D
��������	
��
�
�-

)#�2
���
 �5�����?�
�6
���
�����(����
����(�)&>�"������2�
������# ����
�������1�
�������2����	
��
�
����2���������
���1��������(�������������
:����
�5�����������������
�������1��������2�
��������
������2�
�������-�

I#�2
���
�5����������
��������������������
����������
�����2�
��1������
6�������������V���1C�������	
��������������������������
��X�
�� ���
	
����������������������������
���	
!2
�������	
����������������-

@# �2����������
 �5���5���5��
 �2������5���
������6V���1C�������	
�������
���������� � �� � ����
� �X�
�� � �� � 	
��������� � ������ � �� � ��� � ����
��
	
!2
�������	
����������������;�2�������
�����1����
������������	
��
�
�(
�����������2�����������

%)G

B�2�����
L���
���/���

����
����

 ����"		+/�#

�
���,$ &

����
� � � � ������ � ��� � �� ������� �� � �
�� � ,$( � 2�
� � 2
���
 � 5�� � �� �
����C2���
��
�Q
 � ����
 � ���2�
 � ���
� � � � 6� � �2�
��������K���� � ��
�����
�����(
1�������
�����
��
����
������	
��
�
�(��������������
���
����������!�����
�������
��� � 2�
� � �� � ����1����
��� � ��� � ��
��� � � � ��
�
 � �1�
����� � ���

�������������
�2
�������� ���
�
������5������
�1�
����W�@$�����
� �I$(

���������?��������
��� �����Q
������4
����:����	
���������;��

%,A

B�2�
���������
M�2��
"	4+ X#

� &

�������������
����(�2�
��2
���
���������1����
�������	
��
�
��������������
��
�������%#��
��������1�������
����(�2
��
���
��
�����������
�����-�)#��

����:�
�������������
���
�1�
�������������������LX4�(�5�����
���2����
2����X���
���L���
��(�������5�����	
��
�
��
�����2�������?������
�����

��
�����1��������
�
�����
����-�I#���K�(����1�

��������(�����������D
2���
����������A�"�����#�������������������D
���
����������%)&�"�������
�����# ������5���2���
����
 �2
�

������2�
�
����,&�"��������# �����( �2�


�5��
�
��������
��:�
-�@#�����1����
��������������������2�
�
��������
��J��(�2�
���Q�%A�"5���K�#�����(����1�

�����������
Q����(��-�A#�R���
�����
�� � ������9�� � ���5����� � 2�
� � 
�2����( � ���
������� � � � �� � ��J�� � �
����
�������������������
���������������������
��������������������

��
�������( � �����( � 5��( � �
 � ���� � �� � ����
������ � �� � 2����� � ��

��1��������(�����:���
�������2�������������1C�������2
������������������(
��
��������)�"����#��������
�����
����������
����������
�
���
���������
����1C����

B���

���( �2�
 �J���
�( �5�����2�
�������� �
����:���
 �����
 � 
����:��� ���
����
��X�
������	
�����������������O��X	��O���

��2����
��R���C5�������
A>�"������2�
������# ����
��������
 �����
�����
��D
C��
�(� 
����:�����

��

����5��2�
�����������2�����������������(�W)$(��
���)%����M���*�)%)+%''%�

%,,

B�2�
���������
M�2��
"	4+ X#

�
���,$ &

����
����W�)$�����
���,3�������������WW�I$���,$����
��
���
����(�2�
���

%#�2
����
�5����������1����
�������	
��
�
������
2��:�
������������5��
���1���
�
 � ������������ � �� � ��
����
�� � �� � �� � �
2
������ � 2J������ � ��

����C2�� � �� � �0������ � �� � ���������� � 2
�������� � �� � 2
�1���9��

�����
������� � �� � �� � ��
2������� � �� � ��
��� � �� � �
2
���� � 2J������
2�
�������������
����C2��������2������?�
C�����������2�
���������

)#��0���
(�2�
��������2�
C�����
�5�����
����C2������
�
����	
��
�
�(�5��
�� � !
���� � � � ��������� � 
�����2��� � 
�����:�
 � � � 5����������� � ��
�
����:���
����1������������
���
�K���������������������(���
���
������
�
����:���
�� � ���������K���� � ��� � ����
���� � �� � 2
������� � �� � ��
����
�0�����������
�������
��
�R��������

I# � 2
���
 � 5�� � �� ��������� � �� � ��
����
�� � �+�� � �� � �
2
������ � 2J������
���
2��:������1������������������������
������ ��1�

��9���2�
��������
2�
� � ���
2��:�
 � � � 2
������ � �� � �������( � ����
������ � � � � � �
����:�
�0������� � 2���� � ����1����
��� � �� � 2
��
�
�� �
@#�����

���
�5��������1�

��9������2
��
�
����?�
���
2�
���:�������

� � ������:� �  �����2�� � �� � 4
����:�( � /
2
��� � � � ����� � �� � ����<����

��2��������2������
���������
����C2���

A#�����
�������������	
��
�
�����!
����������������5���:����
(�����%)
"��K�# �
���� � ����
��
�� � �� � 2����� � �� � ������( � 
���K��� � � � �J
�
� � ��
����
���������
����:��
�����������������
�)��
�
�������A>�����J
�
�
�
�������

%G@
B�2��^����_
`���
�K

�
���%$ & ����
�������������������
���%3(�2�
��
���1���
������?����������	
��
�
�(���
����
����6���������
����
����C2�������1�
��
�������������������
�����2J�����(



%)

"	B4+	/#
��
��C�������
2
����C�������2
�1������������5���5��
�����
�K�;�����������

6���������
����
����C2�������1�
��
�2������2�
������������
��������������
����
�����2J�����;��

%GA
B�2��^����_
`���
�K
"	B4+	/#

�
���,$ & ��2
�
�������������������
���,$���� ������	
����!
����$�%�&''(����)&))�

%GG
B�2��^����_
`���
�K
"	B4+	/#

�
���%) & ��2
�
�����
���%)���� ������	
����!
����$�%�&''(����)&))�

%G*
B�2��^����_
`���
�K
"	B4+	/#

�
���,$ &

������ � ���� � 2�
��
�1� � �� � �
�� � ,$( � 2�
� � 2
���
 � 5�� � �� � ����1����
��� � ��
	
��
�
�� 6��K�
������ ���
����� �2
������� �������������������� �M��� ���
4
����:�(��2
������2����B��
���DM����$�A�@A)(����%'@I(��������
��� ��D ��
2���
�������(�2����
����(��
�����
��D
C��
��
�����-����D��Q��
����
���
�-
����D�1Q
���-����D�
����:�
��������L��������X�
������2�
�4�
2�������
����-��
��D�
����:�
�����2
���������
��;�

%'&
B�2��M����
X��K���K
"�.�.+ X#

�
���%$ &

����
����W�@$�����
���%3(�2�
��2
���
�5������6����
����������
�����2�
�
���
���	
��
�
��������������	
�������������
�������������
������������
�0�
�
���%)�
����;(�2
����������2
�

��������

�����
� � 5�� � 6��� � :���
� � �C����� � �
2
����C��� � ���
� � � � �������
�� � � � �
��
�����
���� � 2J�����( � ��
2���� � ���
� � �������
�� � � � � � ��
���� � ������
���=��
�;�

)&*
B�2����
���
��
��
"	4+	/#

� &
��2
�
����6��0��������
������ ������	
����!
����$�%�&''(����)*����?����
�
���)&));�

)&'

������

N�_
�
��
2��
"B/ + 4#

�
���%% &

���������W�@$�����
���%%(�2�
������

���
�5�����6X���
���L���
�����
���
2��
������������
������������������
��������(��
�����
�9���������������(

�����������
2
��������
���(�����
��:�
����02�
������������0���������
	
��
�
��������
����C2�����������
������	
�
���	�
�������
���(���

1�������1�
���������
2
�������
��
�������5����1�������2
�1������������
�
������
���;

)%)
B�2�� �
��
U�
����

"	B4+ X#

�
���%& &

���������W�)$�����
���%&(�2�
������������
�5���������������2
���������������
2���
��2
���
�6���
���:�2!����������������
��������	
��
�
�;(���
������
��
�Q
�5�����2
!2
�� �����1����
���2�����
�5��
�D��� 6��5���5��
 � ��
2�(
��
���
�����(�
�����������
����2�����2
�?�CK�;�

)%I
B�2�� �
��
U�
����

"	B4+ X#

�
���%$ &

����
� � �� � WW � )$ � � � I3 � �� � �
�� � %3( � 2�
� � ��
�������
 � �� � 2J�����D���� � ��
	
��
�
��62���������
���1�����������
���������2�
��
 ������K���������(
2�
���������?�����
�����9�����?�
���
2��C�������
�����1������������5��
����2�
����
��;(����������������������������
�2���������1����
����2
��
���
���
��������2��C�����2J�������

)%@
B�2�� �
��
U�
����

"	B4+ X#

�
���%$ &

����
� �� � ������ � ��� � �� ��
�� � %3( � 2�
� �
���1���
 ��� ���?������ ����	
��
�
�(
�������������(��������
����6���������
����
����C2�������1�
��
��������������
����
�����2J�����( ���
��C����� ��
2
����C��� ��� �2
�1�������� ��� �5���5��

����
�K�-; � 6���������
 � �� � 
����C2��� � � � �1�
��
 � ���������� � �� � ����
����
2J�����( ���
��C����� ��
2
����C��� ��� �2
�1�������� ��� �5���5��
 �����
�K�(
������
��� � R � ����1����
�� ��������� � �������D
���
������ � 
�
���
��� � ��
%)&�����(���
�2
�?�CK����������������
����:����������������������;��

)%A
B�2�� �
��
U�
����

"	B4+ X#

�
���I$ &

������ � � � W �G$ ��� � �
�� � I$( � 2�
� � �0����
 � � ���
������ � ��� � ����1����
��� � ��
	
��
�
�����2�
����2�
�
�������
�������5����1�������2
�1��������(����0����
��
��
�
��1�����������������1����
������2�
����2������
���
�����1�
�����
2����
����C2����

����Q
� ��
�
�
( �����������������
 ������� 
����!
��( �5����

 	���3�%�&''+)&))���
�(��
���
���
��0��2������(��2
���������
���
����

2����	����
��( ����1�

��2�
��
�1��J���������
�� �)$ �����������?��������

 ���� � �� � �<
�
� � ��� � B�2������ � � � �� � ������ � L���
�� � �$ � %+)&)&@(

�2������� ������������
�������2
����!
���������������
������������������

���������?��������� ���������<
�
������B�2�������������������L���
����$�%+)&)&�O�6�
���)3�7T8
	�
��
�1��J������/�5��������
�
���/
�
��������
���J���	J����������
2�
�<������������������������
�������
������2J����������

���������.��BD%'����
�������2
����!
������
�������
�C����2�
������
	����
�������<
�
������B�2�������������������L���
��(� 1��������0��2������
���������
�K�����
�
���������2�
���
 ��
��������������R���
������ �����2�
�2�
��
����
 ����������
�����������
�������������1�

��
���
������;



%I

�������� � �� � �
�
������ � �� � ��J�� � 2J����� � �� � �
2�
�<���� � ��������

����

����������
����C
���"�����D%'#��

�����
�9���������������	�
���
�R� 	���3�%�&''+)&))�����


��2�������	
�?�������M�����������
����1�
�
�2
������������
�)G+@+)&))(

'+A+)&))���%&+A+)&))(���
�������
2�
����������J
�
�������
�����9�����

������� � ����� ����� � M����������( � �� � 
�2
���������� � �� �	���
 �/0�������

1���
��������
�2
�������������������������������/
�
�K������
�5��
�
����

���
���
�������/
������3�%(��2
���������2����B�2�������:
���������
��

"		+�N#( ��2
������ ������ �	�
���
 �� �	
�?��� ��� �M�� ��� ������
��� ���


������������2���9����������
�����

������
�

������������		��������


�����������

����
�
����	���
		���	
�	����	
�
�������	

�
��
�
�������
���������

.��
�� �,)( ������( �����������������L���
�� �����������(�2�
�

1�����������������
�������2
����!
���(����������������������
�<�������

�����2
����2�����������������������

���� �� � �
 � ����( � �0��� � � �����
I�	��� �� �
��Q
��( � 
�5������

����
��������������� 	���3�%�&''+)&))(�5����
�������2��C�����2J��������

�0�
�
��
����<����(���������� �2�
������
����
 �2�
���� ���������2
���������

5����1������ �2
�1�������� � �� � 2������ � �
 ��������� ��� � �����
��������� � ��


�
���������
����:�-��

����� 2�
����
������(�
�5��
 �
�/��	��� ��������2�������

�����

���
��Q
��(���5���Q�?����1������2������
�����
��������

��������������D%'(

5��(���������������������C��������������
2
���(��0���
���
���
������

�����
�����
�����
���������2�
����������2�
�����2��������
���������

��������
�����������

B������D��(�R���K������
��
��������������������/02������

��� ��������3�&%&+)&)%� 4	(���62
�����������
�5��������������
���
����

?�
�����
������������������������0�
�C���(�2�����:�1�����	���
�/0�������(



%@

�� � ��
2������� � ��

����� � 2
�
�
�� � 5�� � �:� � 1�� � ����
����(

�0�
��
����
��
����(�2����������������������2J�����;�"�B��)�)%I� �#(���

��?�( � � � ������
���� � ��� � 2
����2����� � ��������������� � �� � 
����<���� � �

�
�������������������� 	���3�%�&''+)&))���

������ � �� � ���	
�
�����������
� �  ����������
 � 
 � 
!�����

�
��	��
���

��� 	���3�%�&''+)&))(������
�����?������
���������������

L���
�� � �� � %'** � "�L+**#( � ��� � �2
������ � 5���5��
 � �C��� � ��

��������������������1�

������
���
�����U�(��
�
���
�(�R���K�2
����2��
����

�����
����,)(�WW�%$���%&(�*@(��������[[��(���)@,�����L+**(�������
�<��������

�0�������������������������1�

������
���
����(�2������ 	��1�����������2���

����
��������
2������(������
�������
��Q
������������Q���
2��C������
���

��
�����0���������1�

������
���
������

B�� � )%@ � �
����� � 2�
��
����
�� � "/
���� � �3 � % � ��� � Q

�������
���( � 2��� � 1�� � 
���
��� � 2��� � B�2����� � �:
������ � ��
��#( �$;;

���������-������
���#
��#
���
�	������	������
	�����������)�������

��������( � �����( � ���������( � �
 � ���1�

����� � ��
 � � � �������
����

������
��� � 2��� � ��2
�
� � 4
������ � L���
�� � �� � ���� � B�
��� � ��

�����������������������$�A�%)G(���
�����������
�����
����������
��
����������

�
����� � ��?��� � �� �  	� � �3 � %�&''+)&))( � �0�������
���� � �������� � �

�2�
1�����
���	
�?�������M�����������
���(��
�������<�������
���2
���C2��

��
��
����������
���
�����
�2
��������������������

�� ���	�0J��� ��� � � ������� ��� � $,( � �� � ���
� �B�2�����

N�
=��
��X��
���(�5���2
�29����	
��
�
�����/�����������B�1�������

��
������������
������B�1���������-����������������(97�8'7�::7�'97�;$7�;,7

$%'7�$$:7�$(97�$''7�$,97�$9$���$;+(��������
����������
����2�
��
����
��

���	�
���������4
����:���
��(�2
�2��������
���������	
��
�
��4
����:���

������2�
��4����( ���� �����������':( ��������
������B�2�������������

L��:�(�5���2
�29�������2����
��������
�������/�������L�
C�������
C�������



%A

������L�
����
�����
���(���������
�
��Q
������
��:�������?������� 	�(

�0�
�2������( � � � ����� � �������
( � � � ���C��
� � �0�
�C��� � �� � ���������

2�
��
����
��

��� � �����
�
�
��( � �� �  	� � �3 � %�&''+)&)) � � � �
 � ����


��2���������
�����(�������9���R�?�
������������R��Q�����������������(�2���

���� � �� � :�

���K�
 � ��
 �� � �
����
���� � ?�
C���� � 2��
�� � �
 � ����
( � ���

�����
�5���5��
�2
���C2�����
��������
����(�2�����
������
��������0���������

�
����

��?�
C�����"��������(�����
����(�����
�������(� �
2�
�����������

���
����������#����������
����1�

��������
����
��
������������������M��

��
2��
����
 � �$ � 'A( � �� � ), � �� � 1���
��
� � �� � %''*( � ����
����� � ��

�2�
1�����
������
����K��������	
�?�������M�����������
�������0����

�����" � # � �� � �����
��������
 � 
 � ��
$��%�� � &�����
��� � 


��%��
�
����

. � �0�
� � �� � ���5����� � �
��
����
�� � � � 1�������
� � � � ��

��
2����������� � ��
 � �� � ��

�� � ��������( � ���1�

� � �
�� � A$( � W � %$( � ��

�����������������
���������������$�%+)&&)(������������������������"�#���


�2�
����������
������2
����!
�������
�������������2�����2J������-���"��#

�� � ��� � ��
2����������� � ��
 � �� � ��

�� � ��������( � � � �0�
2�� � �� � M��

��
2��
����
��$�%&%(����@+A+)&&&�"M���������2�������������L������O�M�L#(

�� �M�� ��3 �%I�'G%( ��� �)G+%)+)&%'� "	�����	��
������ �O �		�# �� ��� �M�� ��3

%@�%'@(����)&+*+)&)%�"M������B�
��
�K���.
��
����
����O�MB.#�

/
 � 
������ � �� � ��0�� � �
������ � �� � 	� ��3 � %�&''+)&)%( � � �

��������
������5������
�������2
�������������
2����
������
��
�������

S����( � ��?� � �
 � 
������ � R� �
������ � 2�
� � �
2��
������� � �� �	
��
�
�

�������� � �� � ��
���� � �������
��( � ��?� � �2�
��������K���� � ��
�����
�����(

1�������
�����
��
����
���1���
������
��2�����������������
����C2����"�
��

,$(�����������(����� 	�#(���?���
�
����������	
�
���	�
�������
���(���?��

���2���� � ��
�� � ��������� � 2�
 � 
���
��� � �
������ � �� � 2�
��
���

����������������
�����������2J����������2
�������"�
���%%(�W�I$(���� 	�#���

 	���3�%�&''+)&)%�Q���
�Q
���
2��C������
������
������

���2
�������

���M�L(����		�������MB.��



%,

��������������)%@��
�������
��
�
�������"/
������3�%

����Q��������
���(�2����1���
���
����2����B�2�������:
���������
��#�
�����(

�
 � �C�����( � 5�� � %*& � �
����� � 2�����
 � ����
������� � 1����� � �

��
2����������� � ��
 � � � M�L( � � � 		� � � � � � MB.( �	�����������@��

�����#
�������0�����2������)����	�����������&�
���	������
����	��

����������>2�����	�)�	���������������������������(K�(8K�(9K�8'K�:%K

::K�:;K�'8K�',K�'9K�+(K�9'K�9;K�;$K�;,K�;;K�$%'K�$$%K�$$:K�$$9K�$(9K�$8,K

$:%K�$'$K�$''K�$'9K�$,(K�$,9K�$,;K�$9$K�$9'K�$9;K�$;+���(%((�2�����
��


���2���� � 2�
� � S���� � ��
 � ����
�
 � ���
2��:���� � �� � ����
����� � ��

�
2���� � �
��
����
�� � � � 1�������
� � � � �� � 
������ � �� � ��
2�������(

���1�

� � �0���
 � � � �
�� � %%I � �� � ��� � ��� � B��2����9�� � ���������������

4
�����!
���A(�����
����%@(�%,���%G����M�L,�������
����%)@���%)A����MB.G���

���B�4�O�6	
���

�����2
�2�������������������5����
����������
�����2������
����!
������
��J��������

�����������
����
����
2��:�����������
��������������
2������
��
����
�����1�������
��;
��M�L�O�6	
���
�������������������
2���������������������������1C�����������
�K���
�����
������5���
����

� � 
��J���� � �� � 
������ � ����
� � ����
 ����
2��:��� ��� �����
����� � �� � �
2���� � �
��
����
��D
1�������
������0�
�C�����
�5��������������
����������������������������������(�������
�������2�������
���������
��
�K����
��
����
��������2����
������
����������������������9����� �D���
����
�����2���
2
�2����������5�����
��J�����1����������
�����������
���������
���������������
��
����
��(����1�

�
����
���%)(������5��������1���
�����
��������
����������1�������2
��������������0��2
!2
������������
��
��
�K�� � �
��
����
���- ��� �D � ����
 � ���
2��:��� � �� � 
������ � �� � ��
2�������( � �� � 2�
C���

��������� ��� � ��2��( � 2�
 �
��� � �� ���
���� � �� � 
������( � 2
��������� � �� ��������� ��� � ��C5�����(
�
2�������������������������(�
�?�
���������
����������
�������������
�������a��6	
���
������
�����(
�02����� � �� � �2�
1�����
���� � �� � ���� � ����
��
����� � 5�� � ���

��� � ��
���� � �� � ���2��� � ��
�
���
2��:����������D�����
����������
2������
��
����
��D1�������
������0�
�C�����
�5�����������
�

�
�����
�����������������5b�����-����D������
���������
������
�������2�������5�������
�������

���5�������
��
����
�����1�������
����
��������
��
����
�������������
2��������������
���2����
2��
�����������
������������
��
�K����
��
����
�����7T8;��6	
���
����������
�D�����
����!
��������
���

����������������2������

�������
������������(�
������2
����!
������������
�����
��������

������5��
1�0�
�2�
�������������
���������������������0�������2�
��
�2�
C������2�
��
���������0�
�C��������
�
.�������5����
��
�
������
����
�
����2�������5����
��������2�������
�����
� ����
�C������
��
����
������2
�����������������������
���%,�����
����
�
����
���
�����
���
����2�
�������������������
	�
���1��������������
��������W�%3(���������
�����
2��:���������
2
����������5��������2���
�
����������
������������1���
�����
��������
����������1�������2
��������������0��
�1�
�������W�%3
����
���@3(���������������1������1�������
��(�����2�
C��������������(���
���
2��������2������
����
2�

����������
����������2����
�������2�

�������������2�����7T8;
��MB.�O�6	
���
�������2
�2����9���������������������������
�����(�����
����������2���������
���A'���
������������(�5��(���
�����������
���
����(��
2�
��
��������
�K�
�
����������
������������
�������
���2�������S���������
�����
�����
�C������
���
����
����������
2������
��
����
��D1�������
����
�0�
�C�����
�5�������
����
�
��
�����
�������������0�
�C����������5��������7T8�W�@$�������
��������
�
2������
��
����
��D1�������
������
��������
�����02����������
������(��������2
�2���������?����
����
������	���
�/0�������� 1���
��( �������?����1�������( ��������2
�2����������:���
���
����	���

M����������;��;	
���
�������������
����
��������5������
�1�
�����
���%)@��2
�������
����������
������
�����
���� �������2����(���2
�2���� �����
����
����
�
 ���������������2
�?�CK����������������

���� � 1������ �� ���
2
�
( �2�
� ������ 1�
� ��� D ��� �������� � 
������ ���� 
������( ��� �
C��
�( ��
����
��������� � 
�5�������� � �# � ��
 � ��
����
��� � 2��� � 2
�2������ � 5�� � � � 
��J���� � 1�� � �������
��� � ��
����
���������
����������M���.
��
����
��(����1�

��������2���������
���%)����M�����
2��
����
��$
%&%(����)&&&�D�M���������2�������������L�����-��#�����
����
2��:�������
��������
2�����!
���5��
���������1��������
��J��������
���������2
�
�
��(�2�
�
���������
��������
���������

��������
������
������2���-�����#���
2
���
 �5�������1������ 1�������
��� �C5����������2
�2����9�������

��������
�0������( � �
���1�

����( � 
������������
���� �2J����� ������ ��0�
�C��� ��� �2���
 ����2��C���( ��� ���
����
�
����������
��������
����������������C���(������J���
�����1�

�����2������
����(�����2����������



%G

�����'�����!��
�

�������'��������()������*����

B������D��(������C���(�5��������������� 	���3�%�&''+)&))�Q

�
��
��2��������	���
�/0��������1���
���6�����
2�����������������
�
����

��� �
����:�����������2�����
�
������������J���2J��������� �
2�
�<����

����
�������������

�������������D%';(�2
���
���������
����
�2�
����������

2
����������5����1�������2
�1������������?�����(���
���
��2�
��
���������

��0�����������2��������?��������2���������
����������
�����A&�������

.�
Q
������� 	���3�%�&''+)&))�Q�������
���
��(�2���(���
��

2����������������2�
����2��������
������������������������(�����
���
���

�1�
������
��:�
������������2�
��������
2��:�����������������������
����

2J������"6��
��C�������
2
����C�������2
�1������������5���5��
�����
�K�;#��

2�
��5����1�������2
�1��������(�����
��������2�
��
�������������2
����
��

������������2���������D%'��

B������������� 	���$�%�&''+)&))(���������
��������5����

����
������ � ��� � ����1����
��� � �� � 	
��
�
�( � ������
���� � � � �1�
�� � ��

������������������
�����2J��������2�������"�#���
����������
��%*���)'�����-

��"��#���
���������2�
��
���A&��������
��C������1�

�������
2
����:��
���

�����������5���
��
����������
���������������	
�?�������M�����������
���


���K�������
2���0��������
��C������1�

���
C��
�����)@�
�����2�
��%)


����(�
��(��2!���������9�����
��Q���������� �����Q
������4
����:���

/
2
���(���������
���5������2���������
�
�������A&������5���
���

��1
�
�2�
��
�����
�������
�
�������� �
����:����������
��
2
����:�


�������)@�
����(�
�����(����������(�?���������������

����2
�?�����
��������������
�������
���������1�����-������D��������������
�����������2���(�����
��

� � ��������� � �# � �� � 1�
 � ��
����!
�� � �� � ��
���
 � ����������( � ����
 � ���
2��:��� � �� � 
������ � ��
��
2�������(�2�
�
���������
��������
������(�2
���������������������������C5�����(��
2���������
���������������( �
�?�
���������
��������� �
����� ��������
�������( �������
�������2�

���������
���2����-�����#��������1�
���
����!
��������
���
�����������(���
2
�
����
�5��������2
������������
���%,
���M�����
2��
����
��$�%&%(����)&&&�D�M���������2�������������L�����(����2����������2
���������
���
��������
2�����!
��� � 7T8 �L�8B� ��������2����
�R� � 
��J����� ����5��� �
��� ����
�� �%@����M��
��
2��
����
 ��$ �%&%( ��� �)&&&� D �M�� ��� ����2�������������L������ � � � D �� �:�2!���� ���� 
������ ���
���2�������5����
��������C����6�;������������������2��-������D���:�2!�����2
����������W�)$��L�:B�	�
��1���
���������
�����������2����������C����6�;��������������������C����6�;�������������������2��(����
������
��
2�����!
�������
�������������2�����������
��������
�����������
���
��02
����
��������������
����02����������
�������������?����1��������5����
����
���2
�2����������������(����������������������
�2
��������������
���2
�2����9�����������������
��
�
��������7T8;�



%*

B����� � R� � 2
����2��9�� � ������� � ���?������� � R �  	�(

�������
�
������5�������2
��
��������������������
�1���
����2��������


������������
���
������
�������������������

����6����1����
��������2
��
�
�������
���1�
���������
�������

5����
������M����$�%@�)*@(����)'������K�
�
�����)&)%(����������
���5��

���:�
�����������CD���-����

����� 2������ � 5�� � 62�
�����
�
 � R � 1�
C��� � �� � ���0� � 
����

����
�������������
��c�����2�
��	
��
�
��������������X���
���L���
���O

���c����(����5����
�������
���,$DL����M����3�*�G@)(����G������K�
�
����

%''I;�"�������(����1�

����������������
���A3����B��
�����3�%%�&%,(����)'���


�
������)&))(�61�
C������
�
�����1�
����
�
������2�
���2���������Q�
���

����
���
C��
�;#���

.������1����
�������	
��
�
����
����������������
�������

2
����������������2J��������
2��1����������
�
����K�����
����1�

��������


���2
���C2��� � 
����
�� ��� ���
�����
���� �	J������ �����2���
���2�
����2�
(

���1�

���
�� �%@���� 	�(�2�������5���
�����
�����1C�������2
�������

���������� � �� � ����
� � X�
�� � �� � 	
��������� � ������ � �� � ��� � ����
��

	
!2
�������	
����������������(�
������������������1C��������2������2�



�
�������0C���D����������

�������������(����	
�?�������M�����������
���(� �����C
��

�����
��
��2�
�������
�1���
���
��������������������0����������	
��
�
�(

����

������ � 5�� � �2���� � �
 � ����1����
�� � 2�
 � �J���� � 1�
����
( � � � ��


������1����� � 2�
 � 
��� � �� � ������
� � c���� � 2�
� � 	
��
�
�� � ������� � ��

X���
���L���
���O����c����(�2���
����
�������������2�
��2�
����2�
���

��
������������������
���"W�)3�����
���@$����	M�#����
���
��
��2
�2!����(

��
�Q
 � �2�
1�����
�� � � � 
������ � ������� � �� � 	M� � 2�
� � ����

���
 � 5��

2������ � 5�� � ?� � ����
�
 � ���� � ����1����
��� � �� � 	
��
�
� � 2����
 � ��


����
�������������������2��������������������������������������2�����

2�
����2�
������
�������������������
���"W�I$�����
���@$����	M�#����

.� � ����1����
��� � ������������( � ��Q
 � �� � ����
2��:�
�


6������������������
�����2J�����;(���
�6?�
�����
�0�
�������������������))

:�
�����
�����(���
�������������:�
������
���;(���
�Q
���
�����
������



%'

����R�5����1�������2
�1����������
���
�������1�

��������������

����������( � ��
���
���:�
�
�� �
C��
���� �%) �:�
�� �� ������I& ����� ���

2�

������� � �� �	
��
�
�( � ��
����� � � � ��� � 
����K���� � 6�
 ����� � �� � �



�������2��C1������������

�
����2�
����2��������	
��
�
�(���
�2
�?�CK�

������
��������������;�"�0���C
��(��������������(�����
����
�0�
�������
��

:�
�
���������������
���#-

����� ���
�����
�������������( �5�����

��2����
�����6����


�5��������� � �� � ����
��D
C��
� �2�
 � :�
� � � � �������
�
� � � � ����� � �� � :�
��

���2������� � �
 � ���������� � �� � 5����1������ � 2
�1�������� � � � �� � ��
�����

�0��������;( ��������D���5�����?� �������������������� �� �����
 �2�����

�C������������D�
���2�
��*���

U�( � � � 2
�2!����( � ����

������ � �02
���� � �� � 5�� � ��

6����1����
��������2
��
�
�������
���1�
���������
����;����5����
������M��

�$�%@�)*@+)&)%�2���
���
�����
(���
�������
����(���2���
�������������


�1�
�����R�6	
�������������
������������
��;����������1C��������	
��
�
�

��0C����V
������.������
��������������
�Q
�������
����������
�������
�


��������<
�����������c�������������
�
��(�2�
�����!(�������

�2�������

����1C��������	
��
�
����0C����V
����(�������5���
�����������������9��

�0����������M����$�%@�)*@+)&)%�

. �	
��
�
� � 1���
� � ��� � 
��2������������ ��� � �����Q
�� � ��

4
����:����	
���������( �5���2���
�������
���

�����
2��
����
���2�
�

��� ��0������� �� � �
2��
������� ��� �2��C���� � 2J����� � 1���
� �� � ��
�� � ���


����C2����"�
�������	
�?�������M�����������
���(���
�Q
������C
����

B���
��� �L���
��# � 5�� � ��
�� �� �����
������
������ ��� ����
�
�
��� ���� ���

	
��
�
�(�����
����(����1�
�������(���
��2����������������������
������

������2������������1���
���5����������

6��D����1�
���������������������������������
�����2J�����-

���D����������������0���������2���������1����
���-

��� � D �� ��2�
��������K�������
�����
�����( � 1�������
� �� ��
��
����
�� ���

	
��
�
�-


�U�(���2
�2!����(�����

��������02
�����5������R��
2���������������������
����
�K��������
������
?�
C���������������������
�����������������������������1����
������	
��
�
��������������	
����������
��
���� ��������
�� � ���� ����

� � � � ��������� � �� � ��������� � ����������( � � � �0�
2�� � �� � ����1C����

������������R����
�������������
����������
�K��������K��!
���



)&

�� � D � � � ����
 � �� � ��0C��� � 2������
�� � �� � ����
�K� � ������K��!
�� � ��

����1����
��(����C�������������(�2��������
2��:����������������-

��D���1�

�����2���
������������D�
���2�
��(�2
����������M����$�G�@%*(

�� �%, ��� ���K�
�
� ��� �%'*A( ����� ��1�
���
���� ��� ����
� � 1�

����

�
���2�
����
������-

���D�������
��������������
������
������������2���������
�1���
����

����1����
���-���

����D�����
���:�
�
��������
������1�

�������������������������������

5����1�������2
�1��������(�����
����������2���������
���I$�;

. � ���� � ����������� � ����
� � ��2���1���
 � �� � 6���������� � ��

����
�����2J�����;�5�����
����0���������2���������1����
�������	
��
�
�(

����� � 5�� � � � ������������ � � � � � �2�
�������� � �� � ��� � �����:� � ��?�


1����
������� � 2��� � �����
 �
�����2�� � "W � %3 � �� � �
�� � ,$ � �� � 	�#� � ���

������� � ���������� � "�# � �������
��- � "��# � 2�
������- � �� � "���# � 5�� � ���1���
�


������������ ��� ���
����
�� ��� ��� ��
2
������ �2J������ ��� ��0������ ���

�����������2
������������2
�1���9���
�����
����������������
2����������

��
��� � �� � �
2
���� � 2J������ � 2�
��������� � �� �
����C2�� � �� � � � 2�����

?�
C���������������������

/
�
�������R�5����1�������2
�1��������( ���
����C2�������
�

�������
�
( � �� � 2����?�
���� � ��� � ��
���( � 6�� � 2
����2��� � ����������

����=
���� � � � 2
�������� � �� � 
����C2��( � ��
 � ������ � � � ��
����
 � �

�
2
�����������������
2
�������
��
����������1����
���;(���5��(���Q
���

��
2�������K�
����������2
����������
���������������1����
���(�2���������K�
�

����:���������2����
��
 �"
�#���������2
���������������
 �2
�����������:�


���(������
�������	
�?�������M�����������
�������0��"�������������������

�� ��
�� � ,$#( � � ��0������� ��� � ��

������ ����
� ��� ����������� ��� � ����
����

2J����������
2��:�����2��������1����
�������5����1�������2�
�����
����:�

�1�
����(��2�
����K����D��(�����
(�5������������1���
�������2
�
���
��

5����1�������������
�����
����
���������������������
�
���������
����:�

�
�5���������1����
���������
�����
��������

.� � ��
��� � 2���
�� � ��
 � �1�
����� � ��� � 
����������

2
��������(���
�2
������������
�
��������
���
����K�����2
�1�
������
����

�
�������������6�����
���;(�������
���



)%

6��D���
������������������2
����K���
�����������
��
����D������(����5��

�
������B��
���DM����$�@�&@*(����))����?����
�����%'@)-

���D���
������������������2
����K���
���
�
�����D������(����5����
���

��B��
���DM����$�*�,)%(����%&����?����
�����%'@,-

����D���
������������������2
����K���
���
���D�����
(����5����
������M��

�$�*�I%A(����)I������K�
�
�����%''%-

���D���
������������������2
����K���
����4
���2�
���D������(����5��

�
������M����$�*�G&,(����%@��������
�
�����%''I-

��D���
������������������2
����K���
�������2�
������
��D�������2(

���5����
������ ������	
����!
����$�)�%,*D@&(����)@��������������)&&%-

�

�� � D � ��
���� �V
������
� � �� ��2��� � R� � ��
� � � �	�5����� �/
2
���� � D

���
��(����5����
������M����$�*�&)'(����%)������
������%''&�;�

�� 	����
���(����:�2!�����������0����������������������

6�����
���;��
�������

��!
��(�������������2�
����������������
��
����C2���

����
������
����( �� ��
�� �A$ ��� � 	�� 1������ ���� �
����C2��� �� ��1�
�� ����

��
��� ���� �����1����
��� �2�
 �
��� ��� � 6���������9�� ��� � 1�

���� � �Q�����D

2
�1���������
�����2���;����
��������6�����
�����������������������
���

��
 � ���
�� � ��������� � 2�
� � � � �1�
�� � �� � ��
��� � �� � 1�

���� � ������� � �

�����������������5����1�������2
�1��������;��

/
 � 
������ � �� � 2���
���� � ��� � ������( � � �  	� � ��
 � �

2
����2��������������
�
��������2�
���������1����
���(�2
��������5�����

���������9���1�������
����1����
�6���������(���
2�����9������2���
�����

����Q���������5���5��
�����
�K�(�������5���2�
��
���
2�
���������������

�� � �����
 � �C����� � 2
��0��������( � 5�� � �
2��5��
 �� � 
������ � �� � ����
 � ��

�����;� � U� � � � 2������������ � �� � 2���
���� � 2�
 �
��� � �� � 6����� � �� � ��2�

2��2���� � ������ � �������; � "2
������ � �� � M�� � �$ � %@�&GA( � �� � ))+%&+)&)&#(

����
���������������������
����
C�������

6��D����2���������2
�����������������
������2��������1����
��-

���D���������������
����������
�1������
���������-

��� � D � ��
���� � �( � �� �
C��
�( � �
�� � �
���1�
������ �����
=����� �2�
� � �����


������ � �
 � ����������� � 1�������
� � ����
�K��� � � � �2�
�
 � 2��� � V����

����
������V
����������
���5������
��(���
������-��

���D�������������
����������:�5���;



))

.����������2�
���������
������������2���
�����������������

����1����
��� ��� �	
��
�
���������� ��� �	
������� ��� ���
���� ��������
��

��
�� � ����
���� � 2���� � ����� � ������������ � 2�
���� � �� � ���������9��

1�������
����2�
���
����.��
���
����
���������R����������
��������������


���
������� � �� � 2
�K� � �� � �
 � ���( � ������� � �� � ���� � �� � ��2!����(


���
��
���2�
����
����C2���
��2��������2����2���
�����

U�( �����
�� �%&���� 	�(���
�2
�?�CK��������
���:�2!�����

���������������������������2
���������������(�������
�����������:�2!�����

����������
�������������1����
�����������������"�#���
�������
��
2
���(

�� � 1�

� �2
������ ��� ��
�� � I$ � �� ������������� ���� �M��� ���4
����:�- � "��#

1
�5���������1�
��
�R�
C��
���������������2�
�������
�������1�

������������

� � ���������� � �� � �� � 5����1������ � 2
�1��������- � �� � "���# � �2
������
����

����1��������

� � 	� ��$ � %�&''+)&)) � �������� � � � 6	
�
�� � 	�
��� ����
���;(

��
��1�

�����6
����:���
����������
�
����
����C2����5�������������
�


�� � �
2��
������� � �� � 	
��
�
� � �������� � �� � 	
������� � �� � ��
����

�������
��;( � ���1�

� � 
�����
���� � � � ��
 � ������� � 2��� �  �����Q
�� � ��

4
����:����	
���������(���������(����
C��
�(�����
��Q
����������������(���

������
�����������9������
�������������2��������2
�
����������
�����


6����������2�
�
�������
���
�����
����������2�
��
��������������������


����������2J����������2
������;��

�������'���	�
�
���	

/
 � 
�K�� � �� � 
���
��� � �� � /
���� � �3 � % � 2��� � B�2�����

�:
���������
��(������C��������������������������������/
���������� ( �%,(

)*( �IA( �@@( �A@( �A*( �'%( �',( �%&A( �%%@( �%)*( �%AA( �%,*( �%*%�� �%'G( �� ���

�����5���������
��
����
�����1�������
������/
����������)-�)I-�)*-�IA-�@&-

@@-�@'-�AI-�A,-�A*-�G)-�*A-�*'-�'%-�',-�''-�%&A-�%%&-�%%@-�%%*-�%)*-�%I,-�%@&-

%A%-�%AA-�%A*-�%,)-�%,*-�%,'-�%*%-�%*A-�%*'-�%'G���)&)(�2
�
���
����

�����������
Q
���������
������5��(��
�������?�CK��2
���
���
(���������
�


5���5��
��C����������1�����(�2�����������D����2��������
2�
����������0�����

	
�?�������M�����������
�������������������
�������



)I

� 
+,(-. � () � /( � �� � ����
�� � �� � ������
 � 	���� � 	��
(


+,(-.�()�0�(��������
������B�2������N������Q
���(����
+,(-.�()��10(

�������
������B�2����������������M�2��(���
+,(-.�()��/2(��������
�����

B�2������^����_�`���
�K(�2
�29�
(������
��(���������
�������
�1���
����

����1����
�������	
��
�
��������������	
�������������
������������
��(��

�0�
2������2�
C�������
�������2�
�I&�������2!��2
���������������������

�������
�����2J������2�
�
�������%�"�
#�����������2���������������������


�����������R���J���������
���������
����:����

/
�������	�
���
��������(��������
�
�������0����
���������

 	���$�%�&''+)&))(�5���2
����(����W�@$�����
���%$(�����
��������	
��
�
�

��Q � I%+%)+)&))( � 
����� � 2��� � 5��� � ��� � 2��������
�� � �������
���� � 2���


�?����� � �����
�� � ��� � /
����� � ��2���1������( � �
 � ��2����� � 5����� � ��

2�
C�������
���������������1����
�����	�
Q
(���
��2
�2�
������	
�?���

���M�����������
��������
��������	
��
�
��2�
�)@�
������������
���

2�������������1���
��M��(��������
���5�����2�
C�������
�������2�
����

����1����
����Q��
2�
�����(���
���
��������
�<������

���
�����������������


�����������R���J��(�
��������������
���������
����:���B�����1�

�(����

��

�������WW�A3���G$�����
���,$�������
���G$����	
�?�������M�����������
���

���0�( � �����
�� �2�
����
���� � � �/
���� ��3 �G( � �� �����
�� � �� �������


	�����	��
( �� �/
������3 �A)( ��������
�� ����B�2������N������Q
���( ��

/
������3�%,A(��������
������B�2����������������M�2��(�����/
������3

%G*(��������
������B�2������^����_�`���
�K�

� 
+,(-. � () � ��( � �� � ����
�� � �� � B�2����� � /���
��

V�
����( � 2
�29� � 5�� � �� � ����
�� � �
���1�
���� � � � �C���� � �� � ����� � ���

����1����
�������	
��
�
���������� ����	
�������������
������������
��(

5�����������1�
�
�2���������
���1��������(�������?�
��������
�������
�


�������������������
���� ��������	��� 1�
����
�2�
��1�������������������

V���1C�������	
����������������������5����
�������
���)&����M����$�*�G@)(

���G������K�
�
�����%''I�

��
������?��������������2��C�����2J������Q�����
����
�2�
���

�������������2���������
���1������������
�
���������
����:�(���/
����

�3�%)�2�����1�����
������2�
1�����
�����0��������(����������������C
������

2���������
���1���������2�
����2�
�
����	
��
�
��������������	
�������



)@

�� ���
���� ��������
�� ��
� 
�K�� ��� � 
����� ��� �2�
��
�
�� �����1C��� ���

2
�������������������2
����������M���������������������������	�
�����(���

1�

�����	
�?�������M�����������
�������0�(������
�����/
������3�%)(

�������
������B�2������/���
���V�
�����

� 
+,(-. � () � �"( � �� � ����
�� � �� � B�2����� � /���
��

V�
����(�2
�29��������
����������0���������2�
�����0�
����
����2������������

������
����C2���������
�
�
����
������
��
����K��9���������������������

��
�1�������
�������2�
��1�������5����1�������2
�1������������2���������


��1���������

/
��
� � � � 
������ � �
������ � �� � �
�� � A$ � �� �  	� � ?�

�����
2����� � � � 2������������ � �� � �� � 
����C2���( � �
 � ����
������ � R

5����1������ ���� �����1����
��� ��� ������2��C���� �2J����� �2�
 ���������� ���

6�����
� � �;( � �����
�
�
 � ��������� � � � ���
��� � ��
 � ���
�� � ���������(

��
�Q
������
2�������
����K��9������������������������
�1�������
������(

��
2
�����
���5�����
��������
�������������2����������2���1������2���
��

�������
 � ����
��Q
����� � B���� � 
���( � �� � 1�

� � �� � 	
�?��� � �� � M�� � ��

�����
��� ����0�( ������
�� �� �/
���� ��3 �%I( � �� �����
�� ��� �B�2�����

/���
�� � V�
����( � ��������� � �02
����
���� � �
����K��9�� � �� � ���������

����� ���
�1���� ���
������������0��� ��������
������
�������R�5����1���������

�������������1����
������������2��C�����2J��������

� 
+,(-. � () � �07 ��� � ����
�� � �� � B�2����� � /���
��

V�
����(���� �
+,(-.�()���"( ��������
������B�2������ �
���U�
����
(

2
�29�
(������
��(����������������2���������
���1��������(���
�5���5��


��
������ � �� � �����( � ���
� � �� � ����1����
��� � �� �	
��
�
� � �������� � ��

	
�������������
������������
����

��
���������(����2���������
���1�����������������1
����
(

����
��
����( ���1���������� 
����
���� �2�
����� �����C
�
����
�
�������

�
����:�����������
�
�������?�����5����1�������2
�1��������(���5��(��������

�������
( � ?�������� �� ��0������ ��� �5���5��
 � ��
������ ��� � ����� �2�
� �5��

��?�
 � ����1����
��� � �� � ���� � 2��C���� � 2J����� � �� �	
��
�
� ��������� � ��

	
�������������
������������
����B�����1�

�(����1�

�����	
�?�������M��

��������
�������0�(������
�����/
������3�%I(��������
������B�2�����

/���
�� �V�
����( � � � � �/
���� ��3 � )%I( � �� � ����
�� � �� �B�2����� � �
��



)A

U�
����
��

� 
+,(-.�()�11(��������
������B�2������X����:��]������(

� �
+,(-.�()����( ��������
�� ����B�2������	�����X���
�( �2
�29�
��

����������������2����������������5����1�������
���������������6
�
���;�2�


6������<����;�

/
�������	�
���
��������(��������
�
�������0����
���������

 	� � �$ � %�&''+)&)) � �����1��!
�� � ����� � ��2����� � 	�
Q
( � �2!� � �������


����K����������������M����������(�2�
����
���5�����
���1�������2
�2����

����
���� � 2�
� � ��
2�������K���� � �� � 1���
� � M�� � ��
 ��� � ��
�������
�� � ?�

�����K���� ��� � ���������� �5�� ������2���� �� �5����1������ �2�
� �� � �
����:�( � �

�0�
2������M����3�'�I'@(����)&������K�
�
�����%'',��B�����
���(���

1�

�����	
�?�������M�����������
�������0�(������
�����/
������3�,,(

�������
������B�2������X����:��]��������

� 
+,(-.3�(43��5��"���52��00��//���2����/��������"0�

�0/���/����/��,����(��������
����������
����2�
��
����
������	�
��������

4
����:���
��(�2
�29�
�������������������
�������
����C2����2
�
���
�


������
��:�
�������������1����
������ �	
��
�
��������������	
�������

�� ���
���� ��������
�� �2�
� ���
����� ��� � ����

������� ��� �
�� ��� ���
�(

��
��1�

�����2���������K�
�����:�������������������������
�����
������


�
���������
����:���

�������
�
��(��
�
���
�(�5������/
��������2���1������

���������K��������
������?���������������2��C�����2J�����(��������������

����
���C
�
�2�
��5����������1����
�������	
��
�
��������������	
�������

�� � ��
���� � �������
�� � �������
( � �� � 1���� � �� � 2�
C��� � �� � 2
������� � ��

������������������
�����2J�����������2�
����2������
���
�������5����1������

2
�1��������(�����
����1������������������
�����
�������
�
���������
����:��

B�����1�

�(����1�

�����	
�?�������M�����������
�������0�(������
�����

/
����������)@(�I'(�@*(�AA(�GG(�'*(�%&G(�%%)(�%IA(�%AG(�%G&(�%G'���)&%(���

����
����������
����2�
��
����
������	�
���������4
����:���
���

� 
+,(-.3�()�21���"����/���"����0����1����/��,��25(

�������
��� �������
����2�
��
����
������	�
���������4
����:���
��(����


+,(-.�()���/(��������
������B�2������/���
�����
����� ���(�2
�29�
��



),

��������������
�����
�������������������������������(�5������2
���
�
��

5����1������ � ��� � ����1����
��� � ��� 	
��
�
� � �������� � �� � 	
������� � ��

��
���� ��������
�� �
������� ���
��� ���� �
���������� ���
�2
�������� � ��


�
���( � ���2�������K�
�
 � �� � 
���
��� � ������!����� � �������
��� � 2�
�

�������K�
���2�
����2���������������

`����� � �������
��� � � � 2J�����D���� � �� � ����1����
��� � ��

	
��
�
��������������	
�������������
������������
��(���������D���5����


����� � 2
������ � ��� � /
����� � ��2���1������ � ��
� � 1����
�����( � 
�����

��K��(�2�
���������K�
���2�
����2�����������
�����1�
����������
����������

��
�2
�������� � � � 
�
���( � ��� � 
���� � �� � ���������K�
 � � � 5����1������ � ��

����1����
��� � �� � ���� � 2��C���� � 2J����� � ��
 � ������ � ��� � 
���
���

������!�������0��������	�
�����(����1�

�����	
�?�������M�����������
���

���0��"W�)$�����
���'$����	M�#(������
������/
�������3�*,(�'I(�%%G(�%I'(

%A)(�%,%(�%G)���%*@(��������
����������
����2�
��
����
������	�
��������

4
����:���
��(�����/
������3�%)G(��������
������B�2������/���
�����
����

 �������

� 
+,(-.�()���0(��������
������B�2������/���
�����
����

 ���( � �2�
1����� � � � ��0�� � �����( � ��2�����
���� � �� � �������
�

�� � 5�� � �

������� � �� �	
��
�
� � �������� � �� � 	
������� � �� � ��
���� � �������
��

�����
2�� � 
��:�
�� � �� � ����� � ������������( � 
����� � ��
 � �������� � ���

�������������6�����
���;�2
�������������0�����������
��
��2���������2���

5����1���������������1����
������������2��C�����2J�������

����� � �����0��( �� �/
���� � �3 � %)A � 2��� � ����
����
 � 2�
�

�������K�
 � � � 5����1������ � ��� � ����1����
��� � �� � ���� � 2��C���� � 2J�����(

������
�����2�
�2����������
��������
�����������������������
�������
����

2
!2
�����������������6�����
���;�2�
���1�
��������9��������2�����������

<
��������	
��
�
��������������	
�������������
������������
��(����������

6
����������?���������2
��
�
������
!������
���������2����
���2�
���



��
� � ��
��( � ���� � �� � ��2����������� � �� � ������� � �� � ���� � �
� � ���

���������;� �	�
 � ����( � �� � 1�

���� �	
�?��� ��� �M�� ��� ������
��� ����0�(

�����
�����/
������3�%)A(��������
������B�2������/���
�����
����� ����

�����������	��



)G

	�
���������02����(�����
������ �
���
������ �/
������3�%

2��� �B�2�������:
���������
��(�2�
�����K�
�����	���
�/0��������1���
��

2�������������������
2��
����
��
�������2��C�����2J��������
���2�����������

�1�
��
��������������
�����2J��������2
�
���
���5����1�������2
�1�����������


��:�
�������
������
����
������������������
�����������
����������

��!
��

�������� ��( � ���
�����
��K�����5��������	�
���
 �� �� �	
�?�������M�� ���

�����
�������0����2�
�
�����
��Q
�����2
��Q
����( ����1�

�
��
���0��

��

����� �������
��� ��5�����
����� �2����������
�� ����������� ���������


C��
���������
���2�
���2
����������
��Q
��(�������C
����������������

���������1�

����

678�9:.(;4�.43�<,9:737;43�-,�.-+7337=7>7-.-,?�

�
� 2��� � ������
���� � ��� � 2
����2����� � ��������������� � ��


����<��������
���������� ������	
����!
����$�%�&''+)&))-�

�
� 2��� � �������������������( � ?�
��������� � � � ��� � �Q�����

����������� � �� �  ����� � 	
����!
�� � �$ � %�&''+)&)) � � � ��� � �
�����

�2
���������(�R��0����������/
�������3��%,(�)*(�IA(�@@(�A@(�A*(�'%(�',(

%&A(�%%@(�%)*(�%AA(�%,*(�%*%���%'G(�2�
�2����C
�
�
��Q
������
��:����

��?������� 	�-�

�
� 2��� � ��
2����������� � � � ���5����� � 1�������
� � �

�
��
����
�� � �� � 	� � �$ � %�&''+)&)% � � � ��� � �
����� � �2
���������( � R

�0�����������
�������3��)(�)I(�)*(�IA(�@&(�@@(�@'(�AI(�A,(�A*(�G)(�*A(�*'(

'%(�',(�''(�%&A(�%%&(�%%@(�%%*(�%)*(�%I,(�%@&(�%A%(�%AA(�%A*(�%,)(�%,*(�%,'(

%*%( � %*A( � %*'( � %'G( � � � )&)( � 2�
 � ��
�
 � �������
���� � �����5�����

�
��
����
�����1�������
�
����-��

6778�9:.(;4�.4�+@<7;4?�

�# 2����.A<4B.CD4�-.��,-7-.��<4B73E<7.�(�������*����

,�-.3�,+,(-.3�()3�/�������"���0���5��"���52��0���00��11��//��21���"�

�2����/���������/����0����/���"0���"����0����0/���1����10���/����/��



)*

�/2���/����25�����������,���"7����1�

�����	
�?�������M�����������
���

���0�-��

�# �2����
�?������������
�����
������2�
��
����
���

�������������9��(��
������������������������������)&))�

B�2����������F���	

������
�

��� 

���
��
���
�����
�	����)������������

" ������	
����!
����$�%�&''(����)*����?����
�����)&))#

�������� � � � 	
��
�
� ��������� � ��
	
������� � �� � ��
���� � �����
�������
�� � � � � � 	
�
�� � 	�
���
���
����

.�3��/��������	���������
����

3��M ?NA��

����A��OP���C�!���

�
���%$�/����M��������������	
��
�
��������������	
����������
��
������������������
�������	
�
���	�
�������
���(��������������� �����Q
��
���4
����:����	
���������(���
�����?�����������0����
�������������2
�������



)'

���2��������
������������������
������������
���K�
�����
2���������������
���
�
���������
����:�����������2�����
�
������������J���2J��������
�
2�
�<���������
���������
����������������
����C
���"�����D%'#��

	�
��
�1��J������.�	
��
�
����5������
�1�
��� ������� �����
�
�������
����
��������)@�"��������5���
�#�
������������
������������������
M���

3��M ?NA���

�!AC!�4����3�A��N�����!�� �OQA������!1�OA�3�1�N�1AN?� R!�A

�������
B��2����9���	
���
���
���

�
�� � )$ �. �	
��
�
� ��������� ��� �	
������� ��� ���
���� ������
�������
�����
�����?������������������
���� ����C2��������B���
����L���
����
�1�
��
�
����������� ��� � ����
���� �2J�����( � ��
��C����� ��
2
����C��� ���
2
�1������������5���5��
�����
�K�(�2�
���

� �O� ?��������
� ���������
��%*�"��K����# ���)'�"������������#
����-

�� �O�2���������
� ��������2�
��
���A&�"���5�����#��������

�C������1�

�������
2
����:��
�������)@�"��������5���
�#�
����-��

����O�2���������
���1��������(�������

�������
���)3����M����3
%I�%@,(����,����?��:�����)&%A���

W �%$ �4�
�� �2
��
������2�
� ����
�
 ��� �	
��
�
���������� ���
	
�������������
������������������
�������
����:���
���5���

� � O � 1�
�
 � ����1����
��� � ��� � 2
��
�
�� � �� � �
���1�
����� � ��

��������5����
������M����$�%@�)*@(����)'������K�
�
�����)&)%(������
���
���5������:�
�����������CD���-���

���O�2�
�����
�
�R�1�
C����������0��
���������
�������������
�
c�����2�
��	
��
�
��������������X���
���L���
���O����c�����O����5��
�
�������
���,3DL����M����3�*�G@)(����G������K�
�
�����%''I��

W�)$�	�
�����1����������M��(���
����������
������������������
����
���� � 2J����� � �5����� � ������1������ � 2��� �  ����C2�� � �� � 2��� � B���
���
L���
�����
���1���������������
2
�
������?����������	
��
�
�������������
	
������� � �� � ��
���� � ����� � �������
��( � ����� � 5�� � � � ������������ � � � �
�2�
���������������������:����?�
�1����
��������2���������
�
�����2��



I&

�������
�����

�
�� � I3 � ��� � 2���
�� � 2�
����2�
 � �� � 	
��
�
� � �������� � ��
	
�������������
������������������
����5������5���
�����
�
�����1C������
����
�K� �2
���������
�� ��� �����
��X�
�� ��� �	
��������� ������� ��� ����
����
���	
!2
�������	
�����������������

	�
��
�1��J������.����2���������������������
�������������2����
��������1����
�������2������2�
�
�
��������0C���D���������

��������
����������B�
����������V���1����
����

�
�� � @$ �. �	
��
�
� ��������� ��� �	
������� ��� ���
���� ������
�������
�����
���1�
�����2���� ����C2������2����B���
����L���
���2�
�
������
2
����������������2J��������
2��1������

W�%$�.�2
����������������2J���������5����
����� ������� �����
�
�������
���
2�������������(� ����������2�
�
�������2�������������B��
��
.1����� � � � �� � �C��� � ����
=���� � �1����� � �� � ���� � 1���
�����( � ���2����
� � �

����K���� ��� ������
�� �2J����� �� �����
��
� ��� �2
���C2��� �5�� � 
���
��
��
�����
�����2J�����(�������

���������2���������
���IG����������������
L���
����

W �)$ �	���
����
 �������������2�
��2�
����2��������	
��
�
�
������������	
�������������
������������������
����2������
�����1����
��
2�
��J�����1�
����
(�5�����
��������1������2�
�
����������������
��c����
2�
��	
��
�
��������������X���
���L���
���O����c����(����5����
��������
5����
�������
���,3DL����M����3�*�G@)(����G������K�
�
�����%''I�

W �I$ �� �2����� �5�� � ?� � ���:� ����� �����1����
�� ��� �	
��
�
�
�������� � �� �	
������� ��� ���
���� ������ � �������
�� � ��
���� � 2���
� � ��

���������������������������������������2����5����������:�
�2�
����2���
���	
��
�
��

�
�� � A$ � �� � 2�
C��� � ������������ � �� � 2
������ � ��������
��
2��1�����(��� ����C2��������B���
����L���
���������
�
����������1����
���
���	
��
�
��������������	
�������������
������������������
����

��O�������
2��:�����������������������
�����2J���������<
����
���!
�����������������
�����2������
���
���:�
�
���
�0�
�����))�"�������
����#�:�
�����
�����(���
��������*�"����#�:�
������
���-���

���O����1�
��������
�������1�

�������������������������������



I%

5����1�������2
�1��������(���
���
���:�
�
���
C��
�����%)�"��K�#�:�
���2�
�
�����I&�"�
����#���������2�

�����������	
��
�
����

	�
��
�1��J����� �.���
����������2�������� ��������� ��� ������
�������
����(������
�������1�

��������������������������������5����1������
2
�1���������2���
�����
�
����K������
����������
�
�������2��C1�������
����

�
����2�
����2��������	
��
�
��������������	
�������������
����
�������������
��(���
�2
�?�CK���������
2��:������������������������
����
2J��������1�������2���� ����C2������2����B���
����L���
���

���������
.2�
��������K��������	
��
�
���

�
���,$�.�	���
�/0����������� ����C2���������B���
����L���
��
���2�
�����
��

��O����1�
���������������������������������
�����2J�����-

�� � O � �� � ���������� � �� � ����
���� � 2J����� � �0�������� � 2����
����1����
���( � � � ����� � ���� � ��
�� � ����
2��:���� � � � � � 2�
C��� � ��
����
2��:���
�!
����������������
�����2����������
����-

��� � O � � � �2�
��������K���� � ��
�����
�����( � 1�������
� � �
�
��
����
�� � �� � 	
��
�
� � �������� � �� � 	
������� � �� � ��
���� � �����
�������
��-�

���O�������
������0C����2������
����������
�K��������K��!
�����
����1����
��(����C�������������(�2��������
2��:����������������-

��O���1�

�����2���
������������D�
���2�
��(�2
����������M��
�$�G�@%*(����%,������K�
�
�����%'*A(�������1�
���
�����������
��1�

����
�
���2�
����
������-

�� �O �������
��������������
������
� �����������2������� ��

1���
���������1����
���-�

����O�����
���:�
�
��������
������1�

�������������������������
������5����1�������2
�1��������(�����
����������2��������������������������
����
���A$-��

�����O�������
��:�
�������������1����
����2�
�������
��������
����

�����������
��������
�(�2�
�����������
���������������
�����
������

�
���������
����:��

W�%$�.������1����
��������2���
����0�����
������������



I)

��O��������
��-

���O�2�
������-���

��� � O � 5�� � ���1���
�
 � ������������ � �� � ��
����
�� � �� � ��
�
2
�������2J���������������1���
����������0���������������������

�# 2
������������2
�1���9���
�����
�������-���

�# � �� � ��
2������� � �� � ��
��� � �� � �
2
���� � 2J������
2�
������������������1���
�����������2������?�
C���������������������

W�)$�����������5������
�1�
������������������������������
����
����
��
��������
��5�����������������
��D
C��
��2�
�:�
������

��2����
��R
��
������:�
������2���������
���
�������1�

�������������������������
�� � �� � 5����1������ � 2
�1�������� � � � �
 � ���������� � �� � ����
���� � 2J�����
�0������������<
��������	
��
�
��������������	
�������������
����������
�������
���

W � I$ � . � ����
 � 2��� � � � �C���� � �� � ����D�
���2�
�� � ��� � ��
�
�����������������������5����
��������������������������������
�����

W � @$ � � � �������� � ��������� � �� � ����1C���� � 
����������� � R
���
�������(����
�����
����������
�K��������K��!
��(����������
����
�K���

������ � ?�
C���� � ������������ � ���
� � � � ���� � 1���
����� � �1�
����� � � � �
����1����
������2��C�����2J������

W�A$�\�������
�����������1����
��(���
2
��5�����2�
����2����
�� � 	
��
�
� ��������� � �� � 	
������� � �� � ��
���� � ����� � �������
�� � ���:�
��
����������������2�
��
���%�"�
#����(�2�
C�������
����������I&�"�
����#
����(�����
���K����2
�1�
������
�������
��������1Q
����������
����

� W � ,3 �. � 
������ � �� � 5�� � �
��� � � � W � A$ � ����� � �
���� � ����
�
�����
2��
���2���
�����������������5����
������������������������������
�
�����

W�G3�.����������
�������2
�����������W�A$��������
�������
��
��������������
����
��2
�2�
�������5����������
�������������������
�������

��
�������1�
��
���%�"�
#�����

�
�� � G$ � �2����D�� � �� � ����1����
�� � �� � 	
��
�
� ��������� � ��
	
���������� ���
���� ������ ��������
�� �� � ���������� � 
�����������R ���J��(

������� � � � ����
���� � �� � �
����:�( � ����� � ��� � �
2��
������� � ��

��2���������������� ����C2���������B���
����L���
������

�
�� � *3 � 	�
� � 1��� � �� � ���
2��:�
����( � �� �  ����C2��� � � � �



II

B���
��� � L���
�� � 2
����
�� � ��1�

��9�� � ���
� � � � 	
��
�
� � �������� � ��
	
������� � �� � ��
���� � ����� � �������
�� � �� �  �����Q
�� � �� � 4
����:� � �
	
���������(�����
����������2��������M����$�%I�G&'(����%@�������������
)&%*(�������

������
�����
������

��������
`����1�������2�
����4
����:����

�
�� � '$ �. � 2����?�
���� � �� � 5����1������ � � � ��
 � �1�
���� � ���
����1����
��� � �� � 	
��
�
� � �������� � �� � 	
������� � �� � ��
���� � �����
�������
����������
�
�����2
����2�������������������=
�������2
�����������
 ����C2���������B���
����L���
��(���
������������
����
����
2
�����������
�����
2
�������
��
����������1����
����

W � %$ � .� � ��
��� � �� � 1�

���� � ������� � � � ���������� � �� � ��
5����1�������2
�1���������2���
�����
��1�
��������������������
�����������

��O�2
��������-

���O���
�2
��������-����

����O�������<�����

W�)$�������������1�
��������
�������
������������
�2
��������
���������<����(�����
����
���
���������������1����
�����������������
����
������!���������5������2�
�������
2��:�
���������������

�
�� � %&� �� �5����1������ �2�
� �� � �
����:� ���� �����1����
��� ���
	
��
�
��������������	
�������������
������������������
�����
��
����K���
2��������������������������

� � � O ���
���� ��������� � �� ��2
����K���
���� � ������
��
��� � O
�����(����5����
������B��
���DM����$�@�&@*(����))����?����
�����%'@)-

���O���
������������������2
����K���
���
�
�����O������(���
5����
������B��
���DM����$�*�,)%(����%&����?����
�����%'@,-

����O���
������������������2
����K���
���
���O�����
(����5��
�
������M����$�*�I%A(����)I������K�
�
�����%''%-

���O���
������������������2
����K���
����4
���2�
���O������(
���5����
������M����$�*�G&,(����%@��������
�
�����%''I-

��O���
������������� �����2
����K���
�������2�
������
��O
������2(����5����
������ ������	
����!
����$�)�%,*D@&(����)@�������������
)&&%-��



I@

�� � O � ��
���� � V
������
� � �� � �2��� � R� �  ��
� � � � 	�5�����
/
2
�����O����
��(����5����
������M����$�*�&)'(����%)������
������%''&�

W�%$���������������������1����
����2�
�����������������
������
1�

��������������������������������5����1�������2
�1�����������
��
����K���
2����	���
�/0����������� ����C2���������B���
����L���
�������
���������R�
��������� � � � 5�� � �� � 
�1�
� � � ������� ����� � �
���� � ��
 � ������� � �� � ���
��

��!
��(�����
�������
����������
����5����1�������2
��������������������
1����C�����������
���������2
����K���
������:����

W�)$����:�2!�����������0�����������������������������������
5������
�1�
�����������������
����(�2���
����
������������
�����5���������

���
�� ����C2������
��
��/������

W�I$����������������5������
�1�
�����������������
�����2���
��
�����
�
����
�������������������
�����2�
���1�
������?����������
�������
����1����
��� � �� � 	
��
�
� � �������� � �� � 	
������� � �� � ��
���� � �����
�������
����

W �@3 �.� � ����C2��� �� �� �B���
��� �L���
�� � 2���
�� ��1�
��
 � ��
��
�������1�

��������������������������������5����1�������2
�1������������
����1����
��� � 2�
 � 
��� � �� � ���������9�� � �� � 1�

���� � �Q�����D2
�1��������

�����2��� ��������
����� ����
�������������
�����������������������
���
��
����
�������������2J������������
��
����K��9������������������������

1�������
��������

�
���%%����
2����R������������
��2���������2����5����1������
��� � ����1����
��� � �� �	
��
�
� ��������� � �� �	
������� � �� ���
���� ������
�������
����

��O���
�1���
���1
�5������������2
������
�������������1����
���-
�

���O���
�����
���� ����C2��������B���
����L���
�������������

5�� � �� � ����1����
��� � ����
�
 � �2
������
���� � ����1������� � �� � 1
�5������
��1�
��
�R�
C��
���������������

�������
	���
���������V��������

�
���%)��.�2���
�����������������5����
������������������������
����
���,$�2���
����
��1�������2�
�
������������������2��2��2�����������
�������(�������

���������2��������M����$�%@�&GA(����))���������
�����)&)&(
��
����������������
����
C�������



IA

��O����2���������2
�����������������
������2��������1����
��-

���O���������������
����������
�1������
���������-

��� �O ���
���� ��( ��� �
C��
�( �I � "�
��# � �
���1�
������ �����
=�����
2�
� � ����� �
������ � �
 � ����������� � 1�������
� � ����
�K��� � � � �2�
�
 � 2���
V���������
������V
���������%�"�
#���5������
��(���
������-��

���O�������������
����������:�5���

W�%$�\��������R�����������9���1�������
��(�����2�������
����
�����2����������������K����2�
��2���
�����������������5����
���������������
�� ������� ����
���,$(��1����
����������(���
2�����9������2���
��������
�Q���������5���5��
�����
�K�(�������5���2�
��
���
2�
������������������
�����
��C������2
��0��������(�5����
2��5��
���
��������������
����������

W�)$�.��
���
����
���������R����������5����
������������������
����������
���,$��
���������������
���
�����������2
�K�����%�"�
#����(
���������������������2!����(�
���
��
���2�
���������1���
������
��2�������
2����2���
�����

W�I$�.����������2�
���������
������������2���
�������������
���5����
�����������������������������
���,$���
�������
�����2���� ����C2��
���2����B���
����L���
���2�
�����������������9���1�������
����2�
���
���

�
���%I��.������1����
�������	
��
�
��������������	
�������
�����
������������������
���2���
���
�����
������������5����
���������������
����
���,$�������M�����
�������
�������
��

��O�����1C����1�������
�����	
��
�
����0C����V
��������5����
���
��M����$�%@�)*@(����)'������K�
�
�����)&)%-����

���O�����1C�������2
����������������������5����
�������
���)&���
M����3�*�G@)(����G������K�
�
�����%''I(��
�
���������������1����
������

��1�����������

W�%$�.�2���
�����������������5����
����� ��������������
����
������
�(�2�
�����!(�������

�2�������2���
�������������1C�����2
����������
M�� � �$ � %@�)*@( � �� � )&)%( � � � ��
�� � ����
����� � �� � ��
��� � ������9�� � ��

��������� � �� � 	
��
�
� � �������� � �� � 	
������� � �� � ��
���� � �����
�������
���

W�)$�.������
����
���1�
����������
����:���
�������1����
������
	
��
�
� ��������� � �� �	
������� ��� ���
���� ������ ��������
�� ���� � ��
��
�������
�������
��
��������<
�����������c�����



I,

��������

U�2!���������B������
�������

�
���%@��.�����1����
�����
���������������	
��
�
�������������
	
�������������
������������������
�����������������:�2!������

� �O ���
����� ��
��
2
���( ��� � 1�

��2
������ ��� ��
�� � I$ ���
�����������������M�������4
����:�(��2
������2����B��
���DM����$�A�@A)(���
%$����
�������%'@I-

���O�2������
���
���2J�����-�

����O�1
�5���������1�
��
�R�
C��
������������������������5�����

�1�
����������������������������
���,$-���

���O��2
������
���������1��������

	�
��
�1� �J����� �. ������� � �� � ������� �2J����� �2���
� �2
���

���
���:�2!����������������
��������	
��
�
��������������	
����������
��
������������������
���

3��M ?NA����

�!S4�A��A! ������! ��

�
�� � %A� � . � 	
�
�� � 	�
��� � ���
��� � ��
 � � � 1��������� � ��

����:���
 � � � �������
�
 � �� � ����� � 1���������� � 5�� � �� � �������
�
 � ��
�
2��
������� � �� � 	
��
�
� � �������� � �� � 	
������� � �� � ��
���� � �����
�������
���

W�%$�.�
�����
��������	
�
���	�
�������
������
����������2���
 �����Q
������4
����:����	
���������(����5����������
��(����
C��
��

��O�����
��Q
����������������-�

���O����������
���-��

����O������9������
������

W � )$ �. � �����Q
�� � �� � 4
����:� � � �	
��������� � ���
����
� � �
�
2��
�����������	
�
���	�
�������
����

W�I$�������2���������

����������0����������	
�
���	�
���
���
��� � ��
�� � ��������� � 2�
 �
��� � �� � 
���
��� � �
������ � �� � 2�
��
���
����������������
�����������2J����������2
�������

3��M ?NA��1

����A��OP���T��������



IG

�
�� � %,� � ��
2��� � �� � �����Q
�� � �� � 4
����:� � � � 	
���������
���
����
( ��0�����
( �
�����
�
( �������
 �� ������
 ���

�� ���
2��
����
��
2�
�����0�������������2�����������M����

�
���%G��/����M������
���
�����
����������������2�����������

V
��C���(�������������������������)&))-�)&%$��������2�����������%I@$
�����2J������

)'A)D)&))


